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Y=245 (dx=1.2e-01, do=9.2e-03)

f=1304, X=4012.5

Y=491 (dx=1.0e-01, do=-7.5e-03)

Y=736 (dx=9.7e-02, do=-2.4e-02)

T pfsArm T pfsArm
1 = (x=4012.70, 0=1.14) | = (x=4010.39,0=1.16)
T calExp 1 calExp

m—(x=4012.82, 0=1.15)
e Residual*s
= Trace

= (x=4010.49, 0=1.15)
m— Residual*s

pfsArm
1 = (x=4008.70, 0=1.14)

calExp
= (x=4008.80, 0=1.12)
= Residual*5
== Trace

Y=1228 (dx=1.6e-01, do=-2.8e-02)

Y=1473 (dx=1.5e-01, do=-1.6-02)

1
Y=1719 (dx=1.1e-01, do=-2.9e-02)

I pfsArm

1 = (x=4006.79, 0=1.14)
calExp

= (x=4006.94, 0=1.12)

= Residual*5

= Trace

1
T
1

fSArm
1 | ™ (x=4006.47, 0=1.16)

calExp
— (x=4006.62, 0=1.14)

e Residual*5

I pfsArm
I = (x=4006.61, 0=1.14)
calExp
= (x=4006.72, 0=1.11)
= Residual*5
- Trace

Y=2210 (dx=1.1e-01, do=-2.7e-02)

Y=2456 (dx=5.0e-02, do=-3.1e-02)

1
Y=2702 (dx=7.0e-02, do=-3.2e-02)

pfsArm
1 | ™ (x=4007.87, 0=1.14)
1 calExp

m—(x=4007.98, 0=1.11)
e Residual*5
= Trace

pfsArm

1 | ™ (x=4009.04, 0=1.15)
1 calExp

= (x=4009.09, 0=1.12)

e Residual*5
= Trace

Y=3193 (dx=1.3e-01, do=-2.4e-02)

Y=3439 (dx=2.3e-01, do=7.7e-03)

e Residual*5
| Trace

_ T pfsArm T pfsArm
1 = (x=4014.88, 0=1.15) | = (x=4017.64, 0=1.17)

| calExp calExp
= (x=4015.01, 0=1.13) = (x=4017.87, 0=1.18)

e Residual*5
= Trace

T pfsArm
| ™ (x=4010.55, 0=1.16)

calExp
= (x=4010.62, 0=1.13)
= Residual*5

= Trace

Y=3684 (dx=3.3e-01, do=4.9e-02)

pfsArm
| ™ (x=4021.00, 0=1.16)

I calExp

— (x=4021.33, 0=1.20)
e Residual*s
= Trace
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4010 4020 4030

Y=982 (dx=1.4e-01, do=5.9e-02)
T

pfsArm
| ™ (x=4007.47,0=1.16)

calExp
= (x=4007.61, 0=122)

e Residual*5
== Trace

1
Y=1965 (dx=7.8e-02, do=-1.4€-02)

I pfsArm
I = (x=4007.04, 0=1.14)
I calExp

= (x=4007.12, 0=1.13)
I e Residual*5

= Trace

1
Y=2947 (dx=1.7e-01, do=-3.6e-02)

T I pfsArm
| ™ (x=4012.49, 0=1.17)
calEx

—(x=4012.66, 0=1.13)
e Residual*5
== Trace

Y=3930 (dx=4.4e-01, do=1.0e-01)

pfsArm
= (x=4024.94, 0=1.15)

calExp
= (x=4025.38, 0=1.26)
m—Residual*s
- Trace
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f=1305, X=4006.4

Y=245 (dx=1.6e-01, do=-1.0e-02) Y=491 (dx=1.4e-01, do=-3.7e-02) Y=736 (dx=5.7e-02, do=-1.1e-01) Y=982 (dx=9.9e-02, do=-7.7e-02)

pfsArm
I === (x=4001.21, 0=1.40)
I calExp,
m—(x=4001.31, 0=1.32)
wem Residual*s
= Trace

T pfsArm T pfsArm pfsArm T
I = (x=4006.32, 0=1.40) I = (x=4004.14, 0=1.38) = (x=4002.81, 0=1.56) 1
calExp 1 calExp calExp
= (x=4006.47, 0=1.39) - (x= 4004 28, 0=1.34) = (x=4002.87, 0=1.44)
m—Residual*s m—Residual*s m— Residual*s
=== Trace - == Trace - == Trace
- o - —— - -—

1
TI-
1

A

T~

Y=1228 (dx=5.5e-02, do=-1.1e-01) Y=1473 (dx=1.3e-01, do=-8.7e-02) Y=1719 (dx=1.0e-01, do=-2.0e-02) Y=1965 (dx=6.8e-02, do=-6.6e-02)
| L I 1 pfsArm J I i 'pf;\-rm = I fsA
| = (x=400023, 0=1.39) | ™ (x=4000.31, 0=1.38) — (Z4000.98, 0=1.39)
calExp calExp calExp
m——(x=4000.36, 0=1.30) m—(x=4000.41, 0=1.36) m—(x=4001.05, 0=1.32)
- w— Residual*s . wm— Residual*s e Residual*5
"‘ §500.85,0=1.51 B - Trace - Trace - Trace
—_— 0 01, 0=1.40) q ]
= Residual*5 I
= Trace
Y=2210 (dx=5.9e-02, do=-1.3e-01) Y=2456 (dx=2.2e-02, do=-7.1e-02) Y=2702 (dx=2.3e-02, do=-5.3e-02) Y=2947 (dx=1.4e-01, do=-8.8e-02)
] T T
| = (x=4006.30, 0=1.36)

calExp
== (x=4006.44, 0=1.27)
== Residual*5
- Trace

I = pfsArm I
= (x=4004.33, 0=137) 1
calExp
rM = (x=4004.35, 0=1.32)
pfsArm 7| m=—Residual*5
™ (x 4001 90, 0=1.47) T = (x=4002.99, 0=1.42)
- Trace
|Exp calExp
e (x=4001.96, 0=1.35) = (x=4003.01, 0=1.35)
e Residual*5 e Residual*5 T
= Trace = Trace

:;:f—'

Y=3193 (dx=1.2e-01, do=-3.1e-02) Y=3439 (dx=1.1e-01, do=7.5e-02) Y=3684 (dx=2.6e-01, do=-3.1e-02) Y=3930 (dx=3.8e-01, do=3.9e-02)

pfsArm pfsArm T pfsArm

= (x=4011.40, 0=1.37) = (x=4014.95, 0=1.44) = (x=4018.92, 0=1.46)
calExp

= (x=4019.30, 0=1.50)

m— Residual*5

== Trace

calExp
= (x=401521, 0=1.41)
e Residual*5
= Trace

calExp
= (x=4011.51, 0=1.45)
e Residual*5
= Trace

| | 1 I I |
pfsArm
= (x=4008.48, 0=1.44)
calExp
=== (x=4008.60, 0=1.41) .
m— Residual*5
== Trace
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Y=245 (dx=-6.3e-02, do=9.4e-02)

f=1306,

Y=491 (dx=5.9e-02, do=9.4e-03)

X=4000.0

Y=736 (dx=4.9e-02, do=1.3e-02)

pfsArm
= (x=3995.96, 0=1.41) 1

calExp
= (x=3996.01, 0=1.42)
m— Residual*s
== Trace

pfsArm T pfsArm
= (x=3999.92, 0=1.41) 1 = (x=3997.78, 0=1.34)

calExp calExp
= (x=3999.86, 0=1.50) —(x= 3997 84, 0=1.35)
s Residual*s s Residual*s
w | Trace =] == Trace

T T T T 1

Y=1228 (dx=7.2e-02, do=4.4e-02) Y=1473 (dx=1.1e- 01 do=-1.6e- 02)

. pfsArm I
= (x=3993.90, 0=1.33) 1
calExp
= (x=3994.01, 0=1.32)
= Residual*5
| == Trace
- —— - 1

'Y=1719 (dx=1.

pfsArm
= (x 3993.97, 0=1.34) 1

— (x=3994.08, 0=1.34)
= Residual*5
== Trace

pfsArm I
= (x=3994.03, 0=1.44) 1

calExp
= (x=3994.10, 0=1.48)
= Residual*5
= Trace

- -
T T T T

Y=2702 (dx=8.3e-02, do=-4.2e-02)

Y=2456 (dx= 1.0e- 01, do=-3.8e- 02
pfsArm I
= (x=3996.13, 0=1.56) 1

calExp

(x=3996.24, 0=1.52)
= Residual*5
w— Trace

|

Arm
— (x 3997.97, 0=1.32)

Exp
r— (x:3998.05, 0=1.28)
e Residual*5
w  Trace

~

= = , =3.0e-
pfsArm I
= (x=3995.11, 0=1.43) 1
calExp 1
m— (x=3995.20, 0=1.46)
= Residual*5
= Trace
- -
T T T T

Y=3684 (dx=-9.6e-02, do=3.2e-01)

pfsArm '
—(x=4002.12, 0=1.40) 1

calExp
—(x=4002.22, 0=1.40)
= Residualts.
- Trace

— — — -
T f T

pfsArm
= (x=4005.01, 0=132) 1

calExp
| ™ (x=4005.14, 0=1.41)
= Residual*5
= Trace

pfsArm
| = (x=4008.17, 0=1.44)

calExp
= (x=4008.07, 0=1.76)

e Residual*5

Dl

== Trace
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Y=982 (dx=2.2e-02, do=-5.8e-02)

pfsArm T =
= (x=3994.87, 0=1.36)
calExp
_x= 3994 89, 0=1.30)
— Residualts
== Trace
=
-
-— =

pfsArm
1 = (x=3994.58, 0=127)

calExp
= (x=3994.62, 0=123)
e Residual*5

pfsArm
| ™ (x=3999.92, 0=129)

calExp
= (x=4000.01, 0=1.27)

e Residual*5

== Trace
Y=3930 (dx=-7.7e-03, do=4.0e-01)

pfsArm
= (x=4012.17, 0=1.35)

calExp
= (x=4012.16, 0=1.75)
m—Residuals
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Y=245 (dx=9.4e-02, do=2.3e-02)

f=1307, X=3993.8

Y=491 (dx=1.3e-01, do=-7.2e-03)

pfsArm
7 | ™ (x=3993.89, 0=1.15)
1 calExp
= (x=3993.99, 0=1.17)
s Residual*s
= Trace

T
1

T pfsArm
1 = (x=3991.66, 0=1.15)
calExp
- (x=3991.79, 0=1.15)
m— Residual*s
== Trace

Y=1228 (dx=1.4e-01, do=-2.3e-02)

Y=1473 (dx=1.3e-01, do=-2.2e-02)

pfsArm
| ™ (x=3988.10, 0=1.15)

calExp
— (x=3988.24, 0=1.12)
= Residual*5

= Trace

1 e Residual*5

pfsArm
1 = (x=3987.83, 0=1.15)

calExp
— (x=3987.96, 0=1.12)

w— Trace

Y=2210 (dx=1.4e-01, do=-3.1e-02)

Y=2456 (dx=6.8e-02, do=-3.9e-02)

I pfsArm I pfsArm
| ™ (x=3989.19,0=1.14) 1 | ™ (x=3990.35,0=1.14)
1 calExp 1 calExp

= (x=3990.42, 0=1.11)

(x=3989.34, 0=1.11)
e Residual*5

e Residual*5
= Trace

e Residual*5
-1 | Trace

1
Y=3193 (dx=1.2e-01, do=-2.7e-02) Y=3439 (dx=2.0e-01, do=-4.2e-04)
pfsArm T pfsArm
| = (x=3996.13, 0=1.15) 1 = (x=3998.93, 0=1.15)
I r— (CEI:E;QPQG.ZS, 0=1.12) I — (c:I:E;QpQQ 13, 0=1.15)

e Residual*5
= Trace

3980 3990 4000 4010

3990 4000 4010

Y=736 (dx=1.1e-01, do=-1.9e-02)

pfsArm
| ™ (x=3989.97,0=115)
1 calExp

= (x=3990.07, 0=1.13)
— Residual*s
== Trace

Y=1719 (dx=1.4€-01, do=-2.5e-02)

pfsArm
| ™ (x=3987.93,0=114)
1 calExp
= (x=3988.08, 0=1.12)
= Residual*5
= Trace

1
Y=2702 (dx=7.6e-02, do=-4.26-02)

1 I pfsArm
1 m—(x=3991.90, 0=1.15)
calExp
m—(x=3991.98, 0=1.11)
= Residual*5
= Trace

Y=3684 (dx=2.9e-01, do=4.3e-02)

pfsArm
| = (x=400221, 0=1.15)

| calExp
T = (x=4002.50, 0=1.19)
= Residual*5
- Trace

H e

3990 4000 4010

Y=982 (dx=3.7e-02, do=-2.0e-02)

T pfsArm
1 = (x=3988.80, 0=1.15)
1 calExp

= (x=3988.84, 0=1.13)
m— Residual*5
== Trace

1
Y=1965 (dx=4.4e-02, do=-2.4e-02)

I pfsArm
| ™ (x=3988.38, 0=1.14)

. 1 calExp
= (x=3988.42, 0=1.12)

e Residual*5

== Trace

1
Y=2947 (dx=1.3e-01, do=-3.3€-02)
7 I pfsArm
1 = (x=3993.82, 0=1.15)
1 calExp

—(x=3993.95, 0=1.12)
e Residual*5
- Trace

Y=3930 (dx=4.2e-01, do=5.6e-02)

pfsArm
= (x=4006.10, 0=1.15)

calExp
= (x=4006.52, 0=121)
m—Residual*s
- Trace
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Y=245 (dx=1.4e-01, do=-1.6e-01)

f=1308, X=3987.7

Y=491 (dx=-8.7e-02, do=1.9e-03)

pfsArm
= (x=3989.74, 0=1.83)
calExp
= (x=3989.88,0=1.67)
— Residual*s
- -
=1

pfsArm

= (x=3986.31, 0=1.87)

calExp
= (x=3986.22, 0=1.87)
me= Residual*5
= Trace

- 'T'l""'

Y=1228 (dx=-5.6e-02, do=-1.2e-01)

Y=1473 (dx=-1.8e-01, do=-1.6e-02)

il

™ (x 3983 38, 0=1.96)

— clExp
m—(x=3983.32, 0=1.84)

e Residual*5

w— Trace

o

fsArm
— (x 3983.83, 0=1.78)

calEx
_(x= 3983 65, 0=1.76)

e Residual*5
= Trace f -

Y=2210 (dx=4.8e-03, do=-1.8e-01)

Y=2456 (dx=4.6e-02, do=-2.3e-01)

pfsArm
= (x=3984.07, 0=1.97)

calExp
= (x=3984.07, 0=1.79)

= Residual*5

= Trace

T

1 pfsArm

1 = (x=3985.09, 0=2.06)
calExp

I | = (x=3085.13, 0=1.83)

== Residual*5

== Trace

__.|____:

Y=3193 (dx=-5.8e-02, do=-1.2e-01)

Y=3439 (dx=-1.2e-01, do=-4.0e-02)

pfsArm
= (x=3991.35, 0=1.95)

calExp
= (x=3991.29, 0=1.83)
= Residual*5
= Trace

- pfsArm
= (x=3994.57, 0=1.86)
calExp
= (x=3994.45, 0=1.82) -

-1 e Residual*s

== Trace

3980 3990 4000

3990 4000

Y=736 (dx=-1.8e-04, do=-1.3e-01)

pfsArm
= (x=3985.67, 0=1.88)

calExp
_(x= 3935 67, 0=1.75)

w—— Residual*s
= Trace

Y=1719 (dx=-1.4e-01, do=-8.4e-02)

T pfsArm
= (x=3983.69, 0=1.86)

calExp
— (x=3983.55, 0=1.78)
= Residual*5

| Trace

pfsArm t
= (x=3987.81, 0=1.80)

calExp
= (x=3987.74, 0=1.66)

e Residual*s
w | Trace

Y=3684 (dx=1.4e-01, do=-4.8e-02)

i

pfsArm
= (x=3997.00, 0=1.92)

calExp
= (x=3997.15, 0=1.88)
= Residual*s
== Trace

14T

i

3980 3990 4000

4010

Y=982 (dx=2.0e-02, do=-1.1e-01)
T

pfsArm
= (x=3984.94, 0=1.72)

calExp
- x= 3984 96, 0=1.61)

e Residual*s
== Trace

N 18

Y=1965 (dx=7.1e-02, do=-1.9e-01)

JHILE!

pfsArm
= (x=3982.84, 0=1.94)
calExp
m—(x=3982.91, 0=1.75)
| = Residual*s
= Trace

T

Y=2947 (dx=-2.4e-01, do=1.6e-02)

pfsArm
= (x=3989.76, 0=1.79)

calExp
(x=3989.52, 0=1.80)

= Residual*5

| Trace

- _Tf_

Y=3930 (dx=2.2e-02, do=-4.7e-02)

AT

pfsArm
= (x=4000.48, 0=1.70)

calExp
= (x=4000.50, 0=1.66)
e Residual*5
== Trace
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Y=245 (dx=4.8e-02, do=1.5e-01)

f=1309, X=3981.4

Y=491 (dx=9.8e-02, do=8.8e-02)

T pfsArm
| ™ (x=3981.28,0=125)

calExp
= (x=3981.33, 0=1.40)
— Residual*s

w | Trace

pfsArm
| ™ (x=3979.10,0=122)

calExp
= (x=3979.20, 0=1.31)
wm— Residual*5
== Trace

Y=1228 (dx=-8.7e-03, do=-3.8e-02)

Y=1473 (dx=3.4e- 02 do=8.6e- 02)

Y=736 (dx=2.6e-02, do=-6.3e-02)

T pfsArm
1 = (x=3977.70, 0=1.39)

calExp
= (x=3977.72, 0=1.33)
= Residual*5

== Trace

Y=1719 (dx=1.1e-01, do=7.7e-02)

= Residual*5
= Trace

= Residual*5
= Trace

Y=2210 (dx=3.2e-02, do=-4.8e-02)

Y=2456 (dx 4.1e-02, do=-3.7e- 02)

I pfsArm
1 = (x=3976.87, 0=1.29)

calExp

= (x=3976.90, 0=1.24)
= Residual*5

- Trace

pfsArm
| ™ (x=3978.00, 0=129)

1 calExp
(x=3978.05, 0=1.26)
e Residual*5

== Trace

Y=3193 (dx=-6.7e-03, do=-8.7e-03)

pfsArm
= (x=3983.76, 0=1.29)

calExp
= (x=3983.75, 0=1.28)
= Residual*5
w— Trace

pfsArm
— (x=3986.34, 0=1.26)

calExp
= (x=3986.48, 0=1.34)
== Residual*5
- Trace

3970 3980 3990

4000 3970 3980 3990 4000

I pfsArm T I pfsArm I pfsArm
1 = (x=3975.82, 0=1.35) I - (x 3975.29, 0=1.26) | ™ (x=3975.38, 0=129)
calExp 1 calExp 1 calExp
= (x=3975.81, 0=1.31) = (x=3975.33, 0=1.35) = (x=3975.49, 0=1.37)

e Residual*5
= Trace

T 1
1
1
1
1
1

LJj

Y=2702 (dx=3.2e-02, do=-5.3e-03)

T pfsArm

| ™ (x=3979.35,0=127)

1 calExp.
= (x=3979.38, 0=126)

= Residual*5

- Trace

Y=3684 (dx=2.1e-01, do=4.9e-02)

T pfsArm
1 = (x=3989.78, 0=127)

calExp
= (x=3989.99, 0=1.32)
= Residual*s
= Trace

3980 3990 4000

Y=982 (dx=1.3e-02, do=5.3e-02)
T

pfsArm
| ™ (x=3976.26, 0=125)

calExp
- x= 3976 27, 0=1.30)

w—_ Residual*5
== Trace

Y= 1965 ( dx=-5.1e- 02, 'do=-2.4e- 02)

T pfsArm
| (x23976.05, 0=1.30)
1 calExp.

= (x=3976.00, 0=1.27)
I e Residual*5
= Trace

Y=2 dx 6.6e-02, 'do=8.4e- 02)
T

pfsAn
| ™ (x=398127,0=125)

calEx|

(x=3981.33, 0=1.33)
e Residual*5
== Trace

Y=3930 (dx= 17e- 02, do= 3.4e- 01)

pfsArm
= (x=3993.46, 0=1.28)

calExp

(x=3993.47, 0=1.62)
e Residual*5
== Trace
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Y=245 (dx=6.9e-02, do=1.2e-01)

f=1310, X=3975.2

Y=491 (dx=8.3e-02, do=1.3e-02)

pfsArm
| = (x=3975.05, 0=121)

1 calExp

= (x=3975.12, 0=1.32)
I e Residual*s
= Trace

pfsArm
(x=3972.87, 0=1.20)

calExp
— (x=3972.95, 0=122)

e Residual*5
== Trace

- 1
1

Y=736 (dx=6.4e-02, do=2.3e-02)

Y=982 (dx=5.7e-02, do=5.1e-02)

1
Y=1228 (dx=9.9e-02, do=-1.1e-02)

Y=1473 (dx=1.0e-01, do=2.3e-02)

pfsArm
| = (x=3971.19, 0=121)

calExp
= (x=3971.25, 0=1.24)

= Residual*5
== Trace

pfsArm
| ™ (x=3970.06, 0=121)

1 calExp
1 = (x=3970.12, 0=1.26)

e Residual*5
== Trace

T fsArm
| =™ (x=3969.34,0=124)

1 calExp
— (x=3969.44, 0=1.23)

= Residual*5

= Trace

pfsArm
| ™ (x=3969.12,0=121)

1 calExp
— (x=3969.22, 0=1.23)

= Residual*5

= Trace

Y=1965 (dx=1.2e-01, do=-1.4e-02)

Y=2210 (dx=1.3e-01, do=-2.7e-02)

Y=2456 (dx=1.5e-01, do=-2.3e-02)

pfsArm
= (x=3969.21, 0=1.22)

calExp
= (x=3969.33, 0=122)
= Residual*5

== Trace

pfsArm
= (x=3969.75, 0=1.20)
calExp
— (x=3969.86, 0=1.19)
e Residual*5
== Trace

pfsArm
= (x=3970.57, 0=121)

calExp
= (x=3970.70, 0=1.19)
e Residual*5

w— Trace

pfsArm
= (x=3971.71, 0=1.20)

calExp
= (x=3971.86, 0=1.18)
== Residual*5
= Trace

1
1
T
1

Y=3193 (dx=1.0e-01, do=1.7e-02)

Y=3439 (dx=2.0e-01, do=1.2e-02)

pfsArm
| ™ x=3973.18,0=122)

calExp
(x=3973.28, 0=1.18)

e Residual*s

== Trace

pfsArm
= (x=3975.08, 0=121)

calExp
m—(x=3975.20, 0=1.22)
e Residual*5

w=  Trace

pfsArm
= (x=3977.34, 0=125)

calExp
= (x=3977.45, 0=1.26)
= Residual*5
= Trace

pfsArm
= (x=3980.15, 0=1.22)

calExp

(x=3980.35, 0=1.23)
e Residual*5
= Trace

3970 3980 3990

3970 3980 3990

pfsArm
= (x=3983.37, 0=124)

calExp
= (x=3983.54, 0=1.37)
= Residual*5
- Trace

pfsArm
= (x=3987.25, 0=1.23)

calExp
= (x=3987.46, 0=1.43)
m—Residual*s
== Trace

3970 3980 3990

3980 3990 4000
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Y=245 (dx=1.9e-01, do=5.1e-02)

f=1311, X=3969.0

Y=491 (dx=9.5e-02, do=-4.2e-03)

pfsArm T pfsArm T
= (x=3968.88, 0=124) 1 = (x=3966.72, 0=1.25) 1
calExp 1 calExp
= (x=3969.07, 0=1.30) = (x=3966.82, 0=1.25)
s Residual*s I 7| == Residual*s
w | Trace w | Trace
- - -

Y=1228 (dx=5.7e-02, do=-2.0e-03)

pfsArm I
= (x=3963.19, 0=125) 1
calExp
= (x=3963.25, 0=125)

= Residual*5
= Trace

pfsArm

= (x=3962.98, 0=124)
calExp

— (x=3963.09, 0=1.23)

= Residual*5
= Trace

1
Y=2456 (dx=6.7e-02, do=-6.7e-02)

pfsArm
| =™ (x=396429, 0=127)

calExp
m—(x=3964.33, 0=1.28)
e Residual*5

w— Trace

pfsArm I
= (x=3965.61, 0=1.28) 1

calExp
= (x=3965.68, 0=1.21)
= Residual*5
= Trace

Y=3193 (dx=1.0e-01, do=-2.2e-03)

Y=3439 (dx=1.4e-01, do=1.2e-02)

pfsArm T pfsArm T
= (x=3971.19, 0=1.25) 1 = (x=3973.98, 0=1.24) 1

calExp | T calExp |
= (x=3971.29, 0=1.25) = (x=3974.12, 0=125)

= Residual*5
w— | Trace

= Residual*5
| Trace

3960 3970 3980

3960 3970 3980

3990

Y=736 (dx=7.5e-02, do=2.3e-02)

7| s Residual*s

pfsArm T
= (x=3965.03, 0=124)

|
calExp 1
1

= (x=3965.10, 0=1.26)

== Trace

1
Y=1719 (dx=7.5e-02, do=-2.7e-02)

pfsArm I
= (x=3963.08, 0=124) 1
calExp 1
— (x=3963.15, 0=1.21)
= Residual*5 I
= Trace

pfsArm
| ™ (x=3967.03,0=124)

calExp
m—(x=3967.13, 0=1.22)
= Residual*5

- Trace

Y=3684 (dx=1.3e-01, do=1.2e-01)

pfsArm T
= (x=3977.19, 0=125) 1

calExp 1
= (x=3977.33, 0=1.37)
e Residual*5
= Trace

3970 3980 3990

Y=982 (dx=1.5e-01, do=-6.0e-03)

pfsArm T
= (x=3963.92, 0=124) 1
calExp 1
= (x=3964.07, 0=1.24)
— Residual®s I

== Trace

Y=1965 (dx=6.7e-02, do=-5.7e-02)

pfsArm
= (x=3963.64, 0=127) 1

calExp
= (x=3963.70, 0=121)
= Residual*5
== Trace

1
Y=2947 (dx=9.0e-02, do=-5.8e-02)

pfsArm

= (x=3968.93, 0=124)
calExj

m— (x=3969.03, 0=1.18)

= Residual*5

- Trace

7| == Residual*s

pfsArm
= (x=3981.07, 0=1.23)

calExp
= (x=3981.33, 0=1.37)

== Trace

3970 3980 3990
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Y=245 (dx=1.1e-01, do=1.9e-02)

f=1312, X=3962.7

Y=491 (dx=1.0e-01, do=-7.7e-03)

Y=736 (dx=7.4e-02, do=-6.8e-03)

T pfsArm
1 = (x=3962.55, 0=1.18)
calExp
= (x=3962.66, 0=1.20)
— Residual*s
- = Trace

T pfsArm
| ™ (x=3960.32,0=117)

1 calExp
= (x=3960.42, 0=1.16)

e Residual*5

- == Trace

T pfsArm
| ™ (x=395874,0=118)
1 calExp

= (x=3958.81, 0=1.17)
m— Residual*s
== Trace

1
Y=1228 (dx=8.7e-02, do=-7.4e-03)

Y=1473 (dx=5.2e-02, do=-1.0e-02)

1
Y=1719 (dx=9.4e-02, do=-9.4e-03)

I pfsArm
| ™ (x=3956.93,0=1.17)
1 calExp

= (x=3957.02, 0=1.16)
I = Residual*5
- = Trace

pfsArm
1 = (x=3956.70, 0=1.17)

calExp
= (x=3956.75, 0=1.16)
= Residual*5
= Trace

pfsArm
| ™ (x=3956.81,0=117)
1 calExp
= (x=3956.91, 0=1.16)
= Residual*5
= Trace

1
Y=2702 (dx=1.5e-01, do=-3.9e-02)

e Residual*5
w— Trace

1
Y=2210 (dx=1.4e-01, do=-8.1e-04) Y=2456 (dx=1.3e-01, do=-1.7e-02)
I pfsArm I pfsArm
| ™ (x=3958.06, 0=1.16) | = x=395921,0=1.16)
| o calExp 1 — cakxp
(x=3958.20, 0=1.16) (x=3959.34, 0=1.14)

e Residual*5
= Trace

- e Residual*5
| Trace

] T
1

1
Y=3193 (dx=1.1e-01, do=-2.1e-02) Y=3439 (dx=1.3e-01, do=3.2e-03)
pfsArm T pfsArm
1 = (x=3964.92, 0=1.17) 1 = (x=3967.68, 0=1.17)
| e calExp | calExp
(x=3965.03, 0=1.15) (x=3967.81, 0=1.18)

e Residual*5
= Trace

I pfsArm
1 = (x=3960.75, 0=1.17)

calExp
m—(x=3960.90, 0=1.13)

e Residual*s
== Trace

Y=3684 (dx=1.9e-01, do=3.3e-02)

pfsArm
| =™ (x=3970.91,0=1.17)

calExp
= (x=3971.10, 0=1.20)
e Residual*s
= Trace

3950 3960 3970 3980

3960 3970 3980

3960 3970 3980

Y=982 (dx=9.1e-02, do=-2.4e-03)

T T pfsArm
1 = (x=3957.62, 0=1.18)
1 calExp

= (x=3957.71, 0=1.18)
— Residual*s
== Trace

] T
1

Y=1965 (dx=1.3e-01, do=-3.0e-02)

I fsArm
| ™ (x=3957.25,0=1.16)
1 calExp
= (x=3957.38, 0=1.13)
e Residual*5
. = Trace

Y=2947 (dx=7.0e-02, do=-2.4€-02)

pfsArm

1 — (x=3962.64, 0=1.17)
1 calExp

= (x=3962.71, 0=1.15)

- e Residual*5
== Trace

1
Y=3930 (dx=2.8e-01, do=5.2e-02)
pfsArm T
= (x=3974.75, 0=1.18) 1
calExp |
(x=3975.02, 0=1.23)

7| m—Residual*s
== Trace

3960 3970 3980 3990
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Y=245 (dx=-1.8e-03, do=6.0e-02)

f=1334, X=3824.7

Y=491 (dx=2.9e-02, do=2.7e-02)

Y=736 (dx=5.6e-02, do=3.9e-03)

pfsArm pfsArm pfsArm
| = (x=3824555,0=116) | = (x=3822.65,0=1.16) 1 = (x=382127, 0=1.16)
1 calExp 1 calExp 1 calExp
= (x=3824.55, 0=1.22) = (x=3822.68, 0=1.19) = (x=3821.33, 0=1.17)

e Residual*s
= Trace

e Residual*5
== Trace

Y=1228 (dx=7.6e-02, do=1.0e-02)

Y=1473 (dx=1.2e-01, do=3.0e-03)

pfsArm

| ™ (x=3819.80, 0=1.16)
calExp

= (x=3819.87, 0=1.17)

= Residual*5

= Trace

pfsArm
| ™ (x=3819.65 0=116)
calExp
= (x=3819.77, 0=1.16)
= Residual*5
= Trace

1
Y=2210 (dx=7.6e-02, do=2.0e-03) Y=2456 (dx=1.1e-01, do=1.5e-02)
I pfsArm I pfsArm
1 = (x=3821.15, 0=1.15) 1 = (x=3822.24, 0=1.15)
1 — (cfggn.zz, 0=1.15) 1 e ((:LE;SZZ 35, 0=1.16)

e Residual*5
w— Trace

e Residual*5
= Trace

= Residual*5
== Trace

1
Y=1719 (dx=1.1e-01, do=-1.5e-02)
I fsArm
| ™ (x=3819.83, 0=1.16)
7 | — (cff;apw‘ga, 0=1.14)

e Residual*5
= Trace

Y=2702 (dx=7.1e-02, do=2.8e-03)

pfsArm

-1 1 m—(x=3823.64, 0=1.15)
1 calExp
m—(x=3823.71, 0=1.15)

e Residual*s
== Trace

Y=982 (dx=1.1e-01, do=-9.8e-03)

pfsArm
1 = (x=3820.33, 0=1.16)
1 calExp
= (x=3820.44, 0=1.15)
m—_Residual*5
== Trace

Y=1965 (dx=9.9e-02, do=2.6e-02)

I pfsArm
1 = (x=3820.35, 0=1.15)

. 1 calExp
= (x=3820.45, 0=1.18)

e Residual*5
= Trace

Y=2947 (dx=7.4e-02, do=-4.7e-03)

pfsArm
. 1 = (x=3825.40, 0=1.15)

1 calExp
(x=3825.47, 0=1.14)
e Residual*5
== Trace

Y=3193 (dx=7.7e-02, do=-7.8e-03)

Y=3439 (dx=6.0e-02, do=9.4e-03)

pfsArm
| = (x=3827.52, 0=1.15)

calExp
= (x=3827.60, 0=1.14)
= Residual*5
= Trace

T pfsArm
| ™ (x=3830.04, 0=1.16)

| calExp

(x=3830.10, 0=1.17)
e Residual*5
= Trace

3820 3830 3840

3820 3830 3840

Y=3684 (dx=7.9e-02, do=4.9e-02)

T T pfsArm
| ™ (x=3833.04,0=115)

| calExp

= (x=3833.12, 0=1.20)
e Residual*s

= Trace

3820 3830 3840

1
Y=3930 (dx=1.5e-01, do=5.9e-02)

pfsArm
| ™ (x=3836.61, 0=1.15)

calExp

(x=3836.76, 0=1.21)
e Residual*5
== Trace
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Y=245 (dx=7.2e-02, do=3.6e-02)

f=1337, X=3806.2

Y=491 (dx=7.4e-02, do=-2.7e-03)

pfsArm
| ™ (x=3805.80, 0=1.19)

J T

1 calExp

= (x=3805.87, 0=122)
— Residual*s

= Trace

pfsArm
1 = (x=3803.98, 0=1.17)

calExp
= (x=3804.06, 0=1.17)
m— Residual*s

== Trace

Y=1473 (dx=9.2e-02, do=-6.6e-04)

I pfsArm

1 = (x=3801.20, 0=1.17)

1 calExp
= (x=3801.29, 0=1.15)

= Residual*5

= Trace

pfsArm
= (x=3801.07, 0=1.16)

calExp
= (x=3801.17, 0=1.16)

e Residual*5
= Trace

!
| 1

Y=2210 (dx=8.4e-02, do=5.8e-03)

Y=2456 (dx=8.2e-02, do=-2.0e-02)

I pfsArm
| ™ (x=3802.55 0=115)
calExp

(x=3802.63, 0=1.16)
e Residual*5
w— Trace

|

pfsArm
= (x=3803.63, 0=1.15)

calExp
m—(x=3803.71, 0=1.13)
== Residual*5

- Trace

Y=3193 (dx=6.5e-02, do=2.6e-03)

pfsArm
| = (x=3808.85, 0=1.15)

calExp

(x=3808.92, 0=1.15)
e Residual*5
| Trace

¥

pfsArm
= (x=3811.39, 0=1.16)

calExp
= (x=3811.47, 0=1.18)
= Residual*5
- Trace

3800 3810 3820

3800 3810 3820

Y=736 (dx=8.0e-02, do=-8.7e-03)

pfsArm
| = (x=3802.59, 0=1.18)

calExp
= (x=3802.67, 0=1.18)

= Residual*5
== Trace

Y=982 (dx=7.5e-02, do=-1.9e-02)

Y=1719 (dx=9.0e-02, do=5.8e-03)

pfsArm
| ™ (x=3801.67, 0=1.18)

calExp
= (x=3801.75, 0=1.16)

e Residual*5
== Trace

pfsArm
= (x=3801.26, 0=1.16)

calExp
= (x=3801.35, 0=1.17)
= Residual*5

== Trace

Y=1965 (dx=8.8e-02, do=1.1e-03)

pfsArm
| ™ (x=3801.75,0=115)

calExp
= (x=3801.84, 0=1.15)
e Residual*5

== Trace

pfsArm
1 == (x=3805.04, 0=1.15)

calExp
m—(x=3805.14, 0=1.13)
e Residual*s

= Trace

Y=2947 (dx=6.4e-02, do=-3.1e-03)

l
Y=3684 (dx=7.9e-02, do=3.0e-02)

I pfsArm
| ™ (x=3806.75,0=1.15)

calExp
m—(x=3806.82, 0=1.14)

e Residual*5
== Trace

pfsArm
| ™ (x=3814.36, 0=1.16)

| calExp
= (x=3814.44, 0=1.19)
= Residual*5
1 - Trace
|
1 |
1
1
- - o
1

T pfsArm
| = (x=3817.84, 0=1.15)

calExp
= (x=3817.82, 0=1.26)
e Residual*5
== Trace

3800 3810 3820 3830

3810 3820 3830




4000

3500

3000

2500

ix)

e

< 2000
1500
1000

500

calexp

3790 3800

- 4000

- 3500

- 3000

2500

2000

1500

1000

500

6500

Residual

f=1339, X=3793.6

- 200

- 100

- —100

3790 3800
X (pix)

—200

-300

Chi

i

i Illl,ll_l,l_llll__lh UNIEIER]

mﬂmuﬂﬁu+MMii "

3790 3800

Shift measure

-10 O 10

Chi+ - Chi-

Chi

0 20 40

Chi at each row

4000

3500

3000

2500

2000

1500

1000

500



Y=245 (dx=5.0e-02, do=3.2e-02)

f=1339, X=3793.6

Y=491 (dx=5.2e-02, do=3.8e-03)

Y=736 (dx=7.1e-02, do=1.5e-02)

pfsArm
| = (x=379328,0=117)

1 calExp
= (x=3793.33, 0=1.20)

e Residual*s
= Trace

T pfsArm
| = (x=3791.43,0=1.17)
1 calExp
= (x=3791.49, 0=1.17)
m— Residual*s
== Trace

T pfsArm
1 = (x=3790.11, 0=1.16)

calExp
= (x=3790.18, 0=1.18)
m— Residual*s
== Trace

Y=1228 (dx=9.1e-02, do=-2.5e-02)

Y=1473 (dx=1.1e-01, do=-2.3e-03)

Y=1719 (dx=9.2e-02, do=-7.9e-03)

T I pfsArm
| ™ (x=3788.70, 0=1.16)
1 calExp
— (x=3788.79, 0=1.14)
= Residual*5
= Trace

T fSArm
| =™ (x=3788.58, 0=1.16)
calExp
= (x=3788.69, 0=1.16)
= Residual*5
= Trace

I pfsArm
| = (x=3788.78,0=1.16)

calExp
= (x=3788.87, 0=1.15)
= Residual*5

== Trace

Y=2210 (dx=9.8e-02, do=-1.5€-02)

Y=2456 (dx=1.1e-01, do=-2.1e-02)

Y=2702 (dx=9.8e-02, do=-1.0e-02)

e Residual*5
w— Trace

pfsArm pfsArm
1 = (x=3790.09, 0=1.15) 1 = (x=3791.17, 0=1.15)
1 calExp 1 calExp
T m—(x=3790.19, 0=1.14) m—(x=3791.28, 0=1.13)

e Residual*5
= Trace

I pfsArm
| = (x=3792.55,0=1.15)

calExp
(x=3792.65, 0=1.14)

e Residual*s

= Trace

Y=982 (dx=7.7e-02, do=-1.4e-02)
T

pfsArm
1 = (x=3789.21, 0=1.17)

1 calExp
= (x=3789.28, 0=1.15)

e Residual*5
== Trace

Y=1965 (dx=1.1e-01, do=-9.2e-03)

pfsArm
| ™ (x=3789.30, 0=1.15)
calExp
. = (x=3780.41, 0=1.14)
e Residual*5
= Trace

Y=2947 (dx=8.6e-02, do=-2.3e-02)

pfsArm
1 = (x=3794.28, 0=1.15)
B 1 calExp

(x=3794.37, 0=1.12)
e Residual*5
== Trace

Y=3193 (dx=9.0e-02, do=-1.8e-02)

Y=3439 (dx=8.8e-02, do=-3.5€-03)

Y=3684 (dx=8.7e-02, do=3.5e-02)

pfsArm
| ™ x=3796.37,0=115)

calExp
= (x=3796.46, 0=1.13)
= Residual*5
= Trace

pfsArm
| = (x=3798.85, 0=1.15)

calExp
= (x=3798.94, 0=1.15)
= Residual*5
- Trace

pfsArm
| ™ (x=3801.80, 0=1.15)

calExp
= (x=3801.89, 0=1.19)

e Residual*s
= Trace

- -

3780 3790 3800 3810

3790 3800 3810

3790 3800 3810

Y=3930 (dx=2.6e-02, do=6.4e-02)

pfsArm
= (x=3805.29, 0=1.15)
calExp
= (x=3805.32, 0=121)

e Residual*5
== Trace

N

3790 3800 3810 3820



f=1342, X=3775.0

o o o o o o o
o o o o o o o o
o o) o N o N o o
< ™M M o~ ~ — — N o
. | ©
<
< | o
C N
B S S s e e
m [ ] [ ]
-]
n
O >y
S A R
E
<
wn .
o~ < ©
© <t o o | |
1 1 1
T
i m -_Ia__-__ 1 a__mﬁ__ ______ m_ " ] ___ | _ _ L ___-___ __ ______ ! 11| | ¥ _-_ ___ L m
— | LA | __ 1y | N _ o | _____ _______ m
|
m _ J____I _—___i 1-;_____ __4___1__; ______ ____ ___ | __ -
it LA o a1 L gty | 2
n I .-,_l_|l (LI}
| el T s S
L T emrtrn e R _
3 3 3
3 3 3 ~ 3 3
O < N o | | |
1 1 1 1 1
_ &
(o) _ N
-] m
S
n
) o
R _I_-.I | | _7____ ____-_- W M Im
T T —= T _r-II __ T T T —— _
o
o o o o o o o
o o o o o o o
o o o o o o —
%) LN < m ~N — e
I 1 1 _
@
S | "
o
S 2
N~
m

T T T
o o o o o o o
o o o o o o o
N o N o N o o]
m m o (gl — —

4000

Chi at each row

Chi+ - Chi-

X (pix)



Y=245 (dx=-3.1e-04, do=2.6e-02)

f=1342, X=3775.0

Y=491 (dx=2.3e-02, do=3.7e-02)

pfsArm
| = (x=3774.49,0=131)

calExp
= (x=3774.49, 0=1.33)

w— Residual*5
= Trace

pfsArm
| =™ (x=3772.58,0=1.41)

calExp
= (x=3772.61, 0=1.45)

Y=736 (dx=5.4e-02, do=-5.5e-03)

Y=1228 (dx=7.6e-02, do=-9.8e-03)

pfsArm
= (x=3771.40, 0=1.28)
calExp
= (x=3771.45, 0=1.28)
— Residual*s
== Trace

T fSAr

pfsArm
1 = (x=3770.12, 0=122)

calExp
= (x=3770.20, 0=1.21)
w—— Residual*5

= Trace

pfsArm
1 = (x=3770.03, 0=121)

calExp
= (x=3770.12, 0=1.18)

m—— Residual*5
= Trace

T
|

Y=2456 (dx=1.1e-01, do=-5.2e-03)

pfsArm

1 = (x=377021, 0=122)
calExp

= (x=3770.29, 0=1.20)

e Residual*5

= Trace

pfsArm
= (x=3771.43,0=128)

calExp
(x=3771.52, 0=1.29)

m—— Residual*5
w— Trace

L

pfsArm
= (x=3772.48, 0=1.30)

calExp
= (x=3772.58, 0=1.30)
m— Residual*5
= Trace

Y=3193 (dx=5.1e-02, do=-7.9e-05)

pfsArm
| ™ (x=3773.64,0=153)

calExp
(x=3773.73, 0=1.56)

m——Residual*5

== Trace

i

_l'

pfsArm

= (x=3777.57, 0=1.36)
calExp

= (x=3777.62, 0=1.36)

e Residual*5
| Trace

pfsArm
1 = (x=3780.20, 0=121)

calExp

(x=3780.25, 0=1.20)
m— Residual*5
= Trace

Y=3684 (dx= 1.3e- 02, do=3.0e- 02)

3770 3780 3790

3770 3780 3790

calExp
= (x=3783.14, 0=123)
m—Residual*5
- Trace

i

1 = F;?sr%au, 0=1.20)
3770 3780 3790

Y=982 (dx=5.3e-02, do=1.5e-02)

pfsArm

= (x=3770.48, 0=1.33)
calExp

- x= 3770 53, 0=1.35)

= Residual*5

Y=1965 (dx=8.0e-02, do=2.8e-02)

pfsArm
= (x=3770.55, 0=1.38)

calEx
_(x= 3770 63, 0=1.41)
m—Residual*5

== Trace

pfsArm
= (x=3775.52, 0=1.34)

calExp
m—(x=3775.59, 0=1.33)
m——Residual*5

w=  Trace

pfsArm
= (x=3786.48, 0=127)

calExp
= (x=3786.48, 0=1.38)
m—Residual*5
- Trace

3770 3780 3790 3800
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Y=245 (dx=2.5e-02, do=2.3e-02)

f=1343, X=3768.8

Y=491 (dx=5.1e-02, do=1.2e-02)

pfsArm T pfsArm
1 = (x=3768.29, 0=123) | = (x=3766.47, 0=125)
1 calExp 1 calExp
= (x=3766.52, 0=1.27)

= (x=3768.32, 0=1.25)

e Residual*s

e Residual*5

Y=1228 (dx=5.9e-02, do=2.5e-02)

Y=1473 (dx=6.1e-02, do=2.2e-02)

pfsArm
| ™ (x=3763.71,0=139)

1 calExp
= (x=3763.77, 0=1.41)

e Residual*5

pfsArm
| = (x=3763.65, 0=1.34)
1 calExp

= (x=3763.71, 0=1.36)
= Residual*5
= Trace

Y=2210 (dx=9.6e-02, do=-1.7e-02)

Y=2456 (dx=1.0e-01, do=-4.0e-02)

pfsArm
| ™ (x=376527,0=121)
1 calExp

(x=3765.37, 0=1.19)
e Residual*5
w— Trace

pfsArm
| ™ (x=3766.34,0=121)
1 calExp

(x=3766.44, 0=1.17)
e Residual*5
w Trace

1
Y=3193 (dx=8.7e-02, do=-2.3e-02)

Y=3439 (dx=6.0e-02, do=2.8e-02)

pfsArm T pfsArm

1 = (x=3771.45, 0=122) I = (x=3773.78,0=1.37)
calExp | calExp

= (x=3771.54, 0=120) = (x=3773.84, 0=1.40)

e Residual*5
w— Trace

e Residual*5
= Trace

3760 3770 3780

3760 3770 3780

Y=736 (dx=6.3e-02, do=-4.3e-03)

Y=982 (dx=8.8e-02, do=-1.7e-02)

T pfsArm
1 = (x=376521, 0=122)
1 calExp

= (x=3765.28, 0=1.22)
e Residual*5

pfsArm
| ™ (x=3764.33,0=123)
1 calExp
= (x=3764.42, 0=121)
m—_Residual*5
== Trace

1
Y=1719 (dx=1.0e-01, do=-3.6e-02)

Y=1965 (dx=6.4e-02, do=1.3e-02)

pfsArm
1 = (x=3764.01, 0=1.20)
1 calExp

= (x=3764.12, 0=1.17)
= Residual*5
= Trace

pfsArm
| ™ (x=3764.46,0=123)
calExp
= (x=3764.52, 0=1.25)
e Residual*5
= Trace

Y=2702 (dx=9.2e-02, do=-1.9e-02)

Y=2947 (dx=9.3e-02, do=-2.7e-02)

I pfsArm
| ™ (x=3767.63,0=129)

calExp
(x=3767.73, 0=1.27)

e Residual*s

== Trace

pfsArm
| ™ (x=3769.40, 0=121)

1 calEx
= (x=3769.49, 0=1.19)

e Residual*5
== Trace

Y=3684 (dx=2.9e-02, do=7.0e-02)

Y=3930 (dx=9.7e-02, do=9.4e-02)

pfsArm
| ™ (x=3776.72,0=133)

| calExp
= (x=3776.75, 0=1.40)
= Residual*5
- Trace

T pfsArm
1 = (x=3780.27, 0=1.20)
| calExp

= (x=3780.37, 0=129)

e Residual*5
== Trace

3760 3770 3780 3790

3770 3780 3790
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Y=245 (dx=5.3e-02, do=1.4e-02)

f=1344, X=3762.6

Y=491 (dx=6.6e-02, do=-8.5e-03)

pfsArm T
= (x=3762.13, 0=1.19) 1

calExp
= (x=3762.18, 0=121)
m— Residual*s
| == Trace

pfsArm
= (x=3760.33, 0=1.19) 1

calExp
= (x=3760.39, 0=1.18)
s Residual*5

w | Trace

Y=736 (dx=6.5e-02, do=-5.4e-03)

pfsArm
= (x=3759.07, 0=1.20) 1

calExp
= (x=3759.13, 0=1.20)
m— Residual*5
== Trace

=] === Residual*5

1 1
Y=1228 (dx=8.7e-02, do=-2.7e-02) Y=1473 (dx=8.9€-02, do=-2.7e-02)
-1 pfsArm I pfsArm I
= (x=3757.70, 0=1.18) 1 = (x=3757.60, 0=1.18) 1
1 calExp

calExp
= (x=3757.79, 0=1.15)
7| == Residual*5

= Trace

7| == Residual*5

= (x=3757.69, 0=1.15)

i Trace

| == Residual*5

Y=2210 (dx=8.5e-02, do=-2.7e-02)

Y=2456 (dx=9.7e-02, do=-4.5e-02)

1
Y=1719 (dx=9.6e-02, do=-2.9e-02)
T
= ?;igr;“slsl,a:l.ﬂ) 1

calExp
= (x=3757.91, 0=1.14)

w— Trace

pfsArm
= (x=3759.14, 0=1.18) 1

calExp
(x=3759.23, 0=1.16)

mm= Residual*5

w— Trace

pfsArm
= (x=3760.21, 0=1.18) 1

calExp
m—(x=3760.30, 0=1.13)
w—— Residual*5

= Trace

pfsArm
= (x=3761.55, 0=1.17)

calExp
= (x=3761.65, 0=1.12)
m— Residual*5
= Trace

— == (x=3763.34, 0=1.13)

calExp
= = (x=3765.39, 0=1.14)
m— Residual*s
- Trace

Y=3193 (dx=7.6e-02, do=-3.3e-02) Y=3439 (dx=8.0e-02, do=-7.9e-03)
pfsArm T pfsArm T
= (x=3765.32, 0=1.17) 1 = (x=3767.74, 0=1.17) 1

calExp

(x=3767.82, 0=1.16)
m— Residual*5
| Trace

Y=3684 (dx=7.1e-02, do=2.7e-02)

| == Residual*5

pfsArm
= (x=3770.64, 0=1.17) 1

calExp
= (x=3770.71, 0=1.19)

== Trace

3750 3760 3770 3780

3760 3770 3780

pfsArm
- = (x=3774.09, 0=1.18) 1

3760 3770 3780

Y=982 (dx=7.4e-02, do=-2.8e-02)

pfsArm T
= (x=3758.20, 0=1.20) 1

calExp
= (x=3758.27, 0=1.17)

== Trace

1
Y=1965 (dx=1.0e-01, do=-1.5e-02)

pfsArm
= (x=3758.34, 0=1.17) 1

calExp
= (x=3758.44, 0=1.16)
m— Residual*s

== Trace

pfsArm
= (x=3763.26, 0=1.18) 1
calEx|

m— Residual*5
= Trace

calExp
= (x=3774.18, 0=125)
m— Residual*5
- Trace

3760 3770 3780 3790
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Y=245 (dx=7.1e-02, do=-3.9e-03)

f=1349, X=3731.6

Y=491 (dx=9.3e-02, do=9.6e-03)

pfsArm
= (x=3731.00, 0=1.17)

calExp
= (x=3731.07, 0=1.16)
— Residual*s

= Trace

pfsArm
(x=3729.27, 0=1.17)

calExp
= (x=3729.36, 0=1.18)
m— Residual*s

== Trace

calExp
= (x=3726.83, 0=1.17)
= Residual*5

= Trace

Y=1228 (dx=7.2e-02, do=-2.8e-03) Y=1473 (dx=7.5e-02, do=-1.3e-02)
I pfsArm I fsArm
| ™ (x=3726.76, 0=1.17) | = x=3726.68,0=117)

calExp
= (x=3726.75, 0=1.16)
= Residual*5

= Trace

- e Residual*5
w— Trace

1
Y=2210 (dx=1.0e-01, do=2.6e-03) Y=2456 (dx=1.1e-01, do=-1.5e-03)
I pfsArm I pfsArm
1 = (x=3728.22, 0=1.15) 1 = (x=3729.27, 0=1.15)
1 — ((:LE;%B.H, 0=1.15) 1 e f:f;;zgas, 0=1.15)

e Residual*5
= Trace

Y=3193 (dx=1.0e-01, do=-2.8e-02)

Y=3439 (dx=9.5e-02, do=-1.5e-02)

pfsArm
| ™ (x=3734.30, 0=1.15)

calExp
= (x=3734.40, 0=1.12)
= Residual*5
= Trace

T pfsArm
| = (x=3736.69, 0=1.15)

calExp
= (x=3736.79, 0=1.14)
= Residual*5
- Trace

3720 3730 3740

3750 3720 3730 3740 3750

Y=736 (dx=8.0e-02, do=1.1e-02)

Y=982 (dx=8.1e-02, do=4.1e-04)

pfsArm
= (x=3728.04, 0=1.17)

calExp
= (x=3728.12, 0=1.18)
m— Residual*s
== Trace

T pfsArm
1 = (x=372721, 0=1.17)
1 calExp

= (x=3727.29, 0=1.17)
m—_Residual*5
== Trace

Y=1719 (dx=9.8e-02, do=-1.1e-02)

Y=1965 (dx=1.2e-01, do=-1.8e-02)

I pfsArm
| ™ (x=3726.89,0=117)
1 calExp

= (x=3726.99, 0=1.16)

e Residual*5
= Trace

pfsArm
| = (x=3727.43,0=1.15)
calExp
= (x=3727.55, 0=1.14)
e Residual*5
= Trace

Y=2702 (dx=1.2e-01, do=-1.9e-02)

Y=2947 (dx=9.6e-02, do=-1.5€-02)

I pfsArm
| ™ (x=3730.61,0=115)

calExp
(x=3730.73, 0=1.13)

e Residual*s

== Trace

pfsArm
| ™ (x=373228,0=115)
1 calExp
= (x=3732.38, 0=1.13)
e Residual*5
- Trace

Y=3684 (dx=1.5e-02, do=4.0e-02)

Y=3930 (dx=3.2e-02, do=9.1e-02)

pfsArm
| = (x=3739.54,0=115)

| calExp

= (x=3739.55, 0=1.19)
e Residual*s

= Trace

T pfsArm
| = (x=3742.85, 0=1.15)

calExp
= (x=3742.89, 0=1.24)

e Residual*5

3730 3740 3750

3730 3740 3750
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Y=245 (dx=1.3e-02, do=3.3e-02)

f=1354, X=3700.5

Y=491 (dx=5.6e-02, do=-1.5e-02)

Y=736 (dx=3.6e-02, do=5.6e-03)

Y=982 (dx=6.6e-02, do=-2.5e-02)

T pfsArm
| ™ (x=3699.71, 0=1.26)

1 calExp
= (x=3699.72, 0=1.29)

w— Residual*5
= Trace

T pfsArm
1 = (x=3698.14, 0=1.18)

1 calExp
= (x=3698.19, 0=1.16)

m— Residual*5

T pfsArm
| ™ (x=3696.81, 0=1.31)

1 calExp
= (x=3696.85, 0=1.31)

m—— Residual*5
== Trace

pfsArm
1 = (x=3696.16, 0=1.18)

calExp
= (x=3696.23, 0=1.15)
— Residual*s
== Trace

Y=1719 (dx=6.0e-02, do=2.6e-02)

'Y=1965 (dx=8.5e-02, do=5.7€-03)

1

Y=1228 (dx=7.4e-02, do=-4.4e-03) Y=1473 (dx=8.4e-02, do=8.8e-03)
I fsArm I pfsArm
| = (x=3695.67, 0=1.26) | ™ (x=3695.63 0=124)
I r— (C;LEBXGPQSJS, 0=1.25) — (C:I=E3)(6,395‘71, 0=1.25)

m—— Residual*5
= Trace

m—— Residual*5
= Trace

I fsArm
| ™ (x=3695.80, 0=1.31)
1 calExp

= (x=3695.86, 0=1.34)

m——Residual*5
= Trace

pfsArm
| ™ (x=3696.43, 0=1.19)
calExp
= (x=3696.51, 0=1.19)
m—Residual*5
= Trace

Y=2210 (dx=1.0e-01, do=-1.3e-02)

1
Y=2456 (dx=9.6e-02, do=-1.3e-02)

Y=2702 (dx=7.7e-02, do=-4.5e-05)

Y=2947 (dx=8.7e-02, do=-1.8e-02)

pfsArm - I pfsArm
1 = (x=3697.22, 0=1.17) 1 = (x=3698.26, 0=1.17)
1 calExp 1 calExp
m—(x=3697.32, 0=1.15) m—(x=3698.36, 0=1.15)

m—— Residual*5
w— Trace

m— Residual*5
= Trace

I pfsArm
| = (x=3699.55, 0=1.20)

calExp
m—(x=3699.63, 0=1.20)
m—— Residual*5

- Trace

pfsArm
1 = (x=3701.22, 0=1.16)
1 calExp

(x=3701.31, 0=1.15)
m——Residual*5

Y=3193 (dx=8.0e-02, do=-2.6€-02)

Y=3439 (dx=5.0e-02, do=1.3e-02)

Y=3684 (dx=2.1e-02, do=2.6e-02)

Y=3930 (dx=-2.0e-02, do=1.1e-01)

pfsArm
| = (x=3703.21,0=1.16)

calExp

(x=3703.29, 0=1.13)
e Residual*5
| Trace

pfsArm
| = (x=3705.54, 0=1.19)

| calExp

(x=3705.58, 0=1.21)
m— Residual*5
= Trace

pfsArm
| = (x=3708.34,0=117)

calExp
= (x=3708.37, 0=120)
m—Residual*5

pfsArm
| ™ (x=3711.57, 0=120)

| calExp

(x=3711.55, 0=1.31)
m— Residual*5
== Trace
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Y=245 (dx=2.9e-02, do=2.8e-02)

f=1355, X=3694.3

Y=491 (dx=3.2e-02, do=-8.3e-03)

pfsArm T
= (x=3693.53, 0=121) 1
calExp
= (x=3693.56, 0=1.24)
w—— Residual*5
== Trace

= Trace

pfsArm
= (x=3691.85, 0=121) 1

calExp
_(x= 3691 88, 0=1.20)

w—— Residual*5

pfsArm I
= (x=3689.54, 0=1.20) 1
calExp
= (x=3689.60, 0=1.19)
e Residual*5
= Trace

= == Trace

pfsArm
= (x=3689.48, 0=1.20) 1

calExp
— (x=3689.57, 0=1.17)
w— Residual*5

pfsArm I
= (x=3691.06, 0=120) 1

calExp
m—(x=3691.14, 0=1.17)
m—— Residual*5

= Trace

7| == Trace

pfsArm
= (x=3692.10, 0=1.20) 1

calExp
= (x=3692.20, 0=1.17)

m— Residual*5

Y=3439 (dx=4.6e-02, do=2.0e-02)

pfsArm

= (x=3697.03, 0=1.20) 1
calExp

= (x=3697.10, 0=1.16)

m Residual*5
w— | Trace

pfsArm '
— (x=3699.36, 0=1.17)
calExp
o = (x=3699.41, 0=1.19)
w— Residual*5
- Trace =
T

3690 3700 3710

3690 3700 3710

Y=736 (dx=4.8e-02, do=-1.5e-02)

== Trace

pfsArm
(x=3690.68, 0=1.21)

calExp
= (x=3690.73, 0=1.20)
m— Residual*s

Y=1719 (dx=9.0e-02, do=-8.7e-03)

pfsArm
= (x=3689.70, 0=1.21)

calExp
— (x=3689.79, 0=1.20)
m— Residual*5

== Trace

' sk

Y=2702 (dx=7.6e- 02 do=-2.0e- 02)

pfsArm |
= (x=3693.40, 0=1.18)
calExp
m—(x=3693.48, 0=1.16)
m— Residual*5
- Trace

Y=3684 (dx—6.6e-02, do=3.7e-02)

7| == Residual*5

pfsArm T
= (x=3702.15, 0=1.19) 1

calExp
- (x=3702.21, 0=122)

== Trace

3690 3700 3710

Y=982 (dx=7.7e-02, do=-1.7e-02)

pfsArm T
7| = (x=3689.88, 0=1.22) 1

calExp
= (x=3689.96, 0=1.20)
w— Residual*s

== Trace

i

Y=1965 (dx=8.8e-02, do=-1.1e-02)

pfsArm T
= (x=369027, 0=1.19) 1

calExp

= (x=3690.36, 0=1.18)
m— Residual*s

- == Trace

L

pfsArm I
= (x=3695.05, 0=1.20) 1
calExp 1

m—(x=3695.12, 0=1.17)
| == Residual*s
= Trace

L

Y=3930 (dx=8.8e-02, do=9.4e-02)

pfsArm
_| = (x=3705.38, 0=117) 1

calExp
= (x=3705.47, 0=1.26)
m— Residual*5
- Trace

.

3690 3700 3710 3720
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Y=245 (dx=2.2e-03, do=4.2e-02)

f=1356, X=3688.1

Y=491 (dx=7.4e-02, do=-6.0e-02)

pfsArm
= (x=3687.44, 0=1.28)

calExp
= (x=3687.44, 0=1.32)
w— Residual*s
w | Trace

|

~| === (x=3685.71, 0=1.24)

pfsArm T
= (x=3685.63, 0=1.30)
calExp
e Residual*s
w | Trace

pfsArm
= (x=3683.49, 0=1.28)

calExp

= (x=3683.52, 0=1.26)
= Residual*5

= Trace

calExp
- == (x=3683.41, 0=1.25)

pfsArm
= (x=3683.44, 0=127) 1

= Residual*5
= Trace

]
I
I
1
e
I
1

Y=2210 (dx=7.4e-02, do=-3.7e-02)

Y=2456 (dx=4.4e-02, do=-7.7e-03)

pfsArm pfsArm

| = (x=3684.80, 0=124) | = (x=3685.84,0=123)
calExp 1 1 calExp

= (x=3684.87, 0=1.20) = (x=3685.88, 0=122)

e Residual*5
= Trace

e Residual*5
== Trace

1
Y=3193 (dx=8.7e-02, do=7.1e-04)

Y=3439 (dx=2.0e-02, do=7.2e-02)

pfsArm
| = (x=3690.75, 0=124)

calExp

(x=3690.84, 0=1.24)
e Residual*5
= Trace

pfsArm
= = (x=3693.27, 0=1.26)

I

calExp
= (x=3693.29, 0=1.33)
= _Residual*5
- Trace

3680 3690 3700

3680 3690 3700

Y=736 (dx=-2.4e-02, do=-3.7e-02)

pfsArm
= (x=3684.57, 0=1.29)
calExp
—| = (x=3684.55, 0=1.25)
s Residual*5
== Trace

Y=982 (dx=6.6e-02, do=-3.9e-02)

| == Residual*s

pfsArm
= (x=3683.68, 0=1.30)

calExp
= (x=3683.74, 0=1.26)

== Trace

pfsArm
= (x=3683.59, 0=1.28)

1

calExp
= (x=3683.68, 0=1.25)
= Residual*5

== Trace

|

Y=2702 (dx=-2.4e-03, do=-3.5e-02)

pfsArm
= (x=3684.25, 0=1.33)

calExp j

= (x=3684.29, 0=1.31)

= Residual*5
== Trace

]

pfsArm
- = (x=3687.35, 0=1.26)

calExp
= (x=3687.34, 0=122)

= Residual*5

- Trace ]
4 H 1
1

1

Y=2947 (dx=1.1e-01, do=-8.5e-03)

Y=3684 (dx=3.3e-02, do=5.3e-02)

pfsArm I
= (x=3688.78, 0=1.23)

calExp
= (x=3688.89, 0=1.22)
= Residual*5

= Trace

I

pfsArm
= (x=3695.85, 0=122)

calExp
= (x=3695.89, 0=1.28)
= Residual*5
= == Trace

Y=3930 (dx=1.9e-01, do=1.8e-01)

3680 3690 3700

pfsArm T U
= (x=3699.25, 0=1.26) 1
calExp |
= (x=3699.45, 0=1.44)
m=_Residual*5
- Trace
- -
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Y=245 (dx=3.3e-02, do=3.1e-02)

f=1360, X=3663.2

Y=491 (dx=4.5e-02, do=-5.3e-04)

Y=736 (dx=5.2e-02, do=3.4e-04)

T pfsArm

| ™ (x=3662.36,0=1.16)

T 1 calExp
= (x=3662.39, 0=1.19)

s Residual*5

= Trace

pfsArm
| ™ (x=3660.76, 0=1.16)

calExp
= (x=3660.80, 0=1.16)
m— Residual*5
== Trace

T pfsArm
| ™ (x=3659.63, 0=1.16)

1 calExp
= (x=3659.68, 0=1.16)

m—— Residual*5
== Trace

Y=1228 (dx=7.1e-02, do=2.9e-03)

Y=1473 (dx=1.0e-01, do=-5.8e-03)

pfsArm
| ™ (x=3658.53,0=116)
calExp
= (x=3658.60, 0=1.16)
w—— Residual*5
= Trace

pfsArm
| ™ (x=3658.50, 0=1.16)
calExp
= (x=3658.60, 0=1.15)
m— Residual*5
= Trace

1

Y=1719 (dx=8.2e-02, do=-2.2e-03)
I fsArm
| ™ (x=3658.74,0=1.15)
1 — (cffsxgss‘sz, 0=1.15)

m——Residual*5
= Trace

m—— Residual*5
- w— Trace

1

Y=2210 (dx=9.3e-02, do=4.2e-05) Y=2456 (dx=9.1e-02, do=-6.5€-03)
I pfsArm I pfsArm
1 = (x=3660.06, 0=1.14) ] ™ (x=3661.08, 0=1.14)
I r— ((:I=E3X§60.15, 0=1.14) I r— ((:|=E3xgsl 18, 0=1.13)

m— Residual*5
= Trace

1

Y=2702 (dx=7.7e-02, do=-4.5¢-03)
I pfsArm
| =™ (x=3662.38,0=1.14)
I r— (c:f;gsz.u, 0=1.14)

m——Residual*5
== Trace

Y=3684 (dx=4.3e-02, do=2.6e-02)

e Residual*5
| Trace

| 1
Y=3193 (dx=7.3e-02, do=3.1e-03) Y=3439 (dx=5.9e-02, do=1.3e-02)
pfsArm T pfsArm
| = (x=3665.89, 0=1.14) | = (x=3668.23,0=1.14)
I r— (CEI:E;(?ES.QS, 0=1.15) I — (c:I:EBXgESB 29, 0=1.15)

m— Residual*5
= Trace

T pfsArm
| ™ (x=3670.91, 0=1.14)

calExp
= (x=3670.96, 0=1.17)
m— Residual*5
= Trace

3650 3660 3670 3680

3660 3670 3680

3660 3670 3680

Y=982 (dx=7.0e-02, do=-1.9e-02)

T pfsArm
- | = (x=3658.88,0=1.16)

1 calExp
= (x=3658.95, 0=1.14)

= Residual*5
== Trace

Y=1965 (dx=8.6e-02, do=1.3e-02)

- I pfsArm
| ™ (x=3659.28, 0=1.14)

1 calExp
= (x=3659.36, 0=1.16)

m——Residual*5
= Trace

Y=2947 (dx=7.4e-02, do=-6.9e-03)

I pfsArm

1 = (x=3663.99, 0=1.14)
calEx

—(x=3664.06, 0=1.13)

m——Residual*5
-1 == Trace

(LR Lo

1
Y=3930 (dx=4.8e-02, do=6.6e-02)
T pfsArm
1 = (x=3674.13, 0=1.15)
T | = (C;‘:E;E?M.IB, 0=121)

m— Residual*5
== Trace

3660 3670 3680 3690
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Y=245 (dx=1.5e-02, do=4.6e-02)

f=1379, X=3545.3

Y=491 (dx=1.2e-02, do=3.7e-02)

Y=736 (dx=5.5e-02, do=1.4e-02)

T pfsArm
1 = (x=3544.01, 0=121)

calExp
= (x=3544.02, 0=1.25)
s Residual*5

= Trace

pfsArm
| ™ (x=3542.49,0=134)

calExp
= (x=3542.50, 0=1.38)
m— Residual*5
== Trace

pfsArm
| ™ (x=3541.50,0=137)

calExp
= (x=3541.56, 0=1.38)
—Residual*s
== Trace

Y=1228 (dx=4.0e-02, do=3.6e-02)

Y=1473 (dx=-8.2e-03, do=5.9e-02)

I pfsArm
| ™ (x=3540.60, 0=1.42)

calExp
= (x=3540.64, 0=1.46)
w—— Residual*5

= Trace

pfsArm
| ™ (x=3540.64, 0=1.43)

calExp
= (x=3540.63, 0=1.49)
m— Residual*5

1

Y=1719 (dx=6.8e-02, do=1.7e-02)
I fsArm
1 = (x=3541.15, 0=120)

calExp
= (x=3541.22, 0=121)
e Residual*5

== Trace

Y=2702 (dx=2.3e-02, do=7.0e-02)

1 1

Y=2210 (dx=8.7e-02, do=3.9e-02) Y=2456 (dx=6.8e-02, do=3.3e-02)
I pfsArm pfsArm
| =™ (x=3542.40,0=123) | = (x=3543.39,0=122)
1 — ((fgspn.ag, 0=127) I [ ((:LE;spu 46, 0=1.25)

m—— Residual*5
w— Trace

m— Residual*5
= Trace

pfsArm

| ™ (x=3544.53,0=132)
1 calExp
= (x=3544.56, 0=1.39)

m——Residual*5

Y=3193 (dx=6.4e-02, do=9.0e-03)

Y=3439 (dx=7.5e-02, do=1.0e-03)

1
Y=3684 (dx=4.2e-02, do=3.4e-02)

T pfsArm
1 = (x=3547.97, 0=1.16)

| calExp

= (x=3548.04, 0=1.17)
w— Residual*5
= Trace

pfsArm
1 = (x=3550.11, 0=1.17)

calExp

(x=3550.18, 0=1.17)
m— Residual*5
= Trace

pfsArm
| ™ (x=3552.54,0=124)

calExp
= (x=3552.58, 0=1.28)
m—Residual*5

= Trace

3540 3550 3560

3540 3550 3560

3540 3550 3560

Y=982 (dx=3.5e-02, do=-5.7e-03)

pfsArm
1 = (x=3541.07, 0=120)

calExp
= (x=3541.11, 0=1.20)
m—Residual*5
== Trace

Y=1965 (dx=7.2e-02, do=3.4e-02)

pfsArm
| = (x=3541.57,0=132)

calExp
= (x=3541.64, 0=1.35)
m—Residual*5

Y=2947 (dx=6.8e-02, do=-2.7e-03)

- I pfsArm
1 = (x=3546.16, 0=1.17)

1 calExp
= (x=3546.23, 0=1.17)

m——Residual*5
== Trace

Y=3930 (dx=3.5e-02, do=1.0e-01)

i pfsArm
| = (x=3555.50, 0=122)

calExp
= (x=3555.53, 0=1.32)
m—Residual*5

== Trace

3540 3550 3560 3570
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Y=245 (dx=2.0e-02, do=3.4e-02)

f=1380, X=3539.1

Y=491 (dx=8.8e-02, do=1.2e-04)

= (x=3537.87, 0=1.19)
— Residual*s
= Trace

T pfsArm pfsArm T
| = x=3537.85,0=1.16) = (x=3536.50, 0=1.17) 1
1 calExp calExp 1

= (x=3536.59, 0=1.17)
— Residual*s
w | Trace

Y=736 (dx=2.8e-02, do=-1.3e-02)

pfsArm T
= (x=3535.54, 0=1.17) 1
calExp 1

= (x=3535.57, 0=1.16)
s Residual*5
== Trace

i Trace

1
Y=1228 (dx=6.2e-02, do=-3.8e-03) Y=1473 (dx=7.4e-02, do=6.3e-03)
pfsArm I pfsArm I
= (x=353470, 0=1.17) 1 = (x=3534.74, 0=1.17) 1
— calxp 1 — calExp 1
(x=3534.76, 0=1.16) (x=3534.81, 0=1.17)
= Residual*5 e Residual*5

i Trace

1
Y=1719 (dx=8.9e-02, do=-1.3e-02)

| = Trace

pfsArm I
= (x=3535.09, 0=1.17) 1

calExp 1
= (x=3535.18, 0=1.16)

e Residual*5

m—(x=3536.49, 0=1.15)
7| == Residual*s
= Trace

| ™ (x=3537.46, 0=1.14)

1 1

Y=2210 (dx=1.2e-01, do=5.3e-04) Y=2456 (dx=1.0e-01, do=-1.1e-02)
pfsArm ! pfsArm T
= (x=3536.37, 0=1.15) 1 = (x=3537.35, 0=1.15) 1
calExp 1 calExp 1

e Residual*5
w— Trace

Y=2702 (dx=9.8e-02, do=5.7e-03)

Y=3193 (dx=7.6e-02, do=5.5e-03)

Y=3439 (dx=4.7e-02, do=2.0e-02)

pfsArm T
= (x=3538.56, 0=1.15) 1
calExp

m— (x=3538.65, 0=1.16)
= Residual*5
- Trace

= Residual*5
w— | Trace

pfsArm T pfsArm T
= (x=3541.81, 0=1.17) 1 = (x=3543.94, 0=1.15) 1
calExp | calExp
™ (x=3541.89, 0=1.17) —(x=3543.99, 0=1.17)

e Residual*5
| Trace

] = Residual*5

pfsArm

= (x=3546.48, 0=1.15)
calExp

= (x=3546.51, 0=1.18)

== Trace

3530 3540 3550

3530 3540 3550

Y=982 (dx=6.2e-02, do=8.9e-03)

pfsArm T
= (x=3534.94, 0=1.16) 1
calExp 1

= (x=3535.00, 0=1.17)
m— Residual*s
== Trace

1

Y=1965 (dx="7.8e-02, do=-9.1e-04)
T

= ?:5:}\3?35 59, 0=1.16) 1

calExp

= (x=3535.67, 0=1.16)
= Residual*5
== Trace

1

Y=2947 (dx=2.9e-02, do=7.2e-03)
pfsArm I
= (x=3540.09, 0=1.17) 1
calExp 1

m—(x=3540.12, 0=1.18)
e Residual*5
= Trace

3530 3540 3550 3560

pfsArm
= (x=3549.41, 0=1.15) 1

calExp
= (x=3549.45, 0=122)
= Residual*5
- Trace

3540 3550 3560
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Y=245 (dx=1.5e-03, do=6.1e-02)

f=1384, X=3514.3

Y=491 (dx=4.1e-02, do=2.7e-02)

pfsArm
| = (x=3512.90,0=115)

1 calExp
= (x=3512.90, 0=121)

e Residual*s

T pfsArm
| ™ (x=351159, 0=116)

1 calExp
= (x=3511.63, 0=1.18)

e Residual*5

Y=736 (dx=3.6e-02, do=1.4e-02)

T pfsArm
| ™ (x=3510.67,0=1.16)

1 calExp
= (x=3510.71, 0=1.17)

= Residual*5
== Trace

= Trace == Trace
|
T T T T T 1 T
Y=1228 (dx=6.2e-02, do=2.0e-02) Y=1473 (dx=9.8e-02, do=1.2e-02)
I fsArm I pfsArm
| ™ (x=3509.88, 0=1.15) 1 = (x=3509.98, 0=1.15)
I - (C;LEBXSPDQ,QAL 0=1.17) I = (C:I=E3x5plo‘07, 0=1.16)

e Residual*5
= Trace

e Residual*5
= Trace

Y=1719 (dx=8.9e-02, do=7.1e-03)

|
Y=2210 (dx=6.3e-02, do=4.2e-03)

Y=2456 (dx=7.4e-02, do=1.4e-02)

pfsArm
| ™ (x=351028,0=115)
calExp
= (x=3510.36, 0=1.15)
= Residual*5
= Trace

pfsArm I pfsArm
| ™ (x=3511.56, 0=1.14) | ™ (x=3512.53,0=1.14)
1 calExp -1 1 calExp
m—(x=3511.62, 0=1.15) m—(x=3512.61, 0=1.15)

e Residual*5
w— Trace

e Residual*5
= Trace

Y=2702 (dx=5.4€-02, do=-3.0e-03)

I pfsArm
| = (x=351373,0=1.15)
1 calExp

= (x=3513.79, 0=1.14)

e Residual*s
== Trace

e -
1
Y=3193 (dx=9.7e-02, do=3.0e-02) Y=3439 (dx=7.0e-02, do=-4.8e-03)
T pfsArm T pfsArm
1 = (x=3516.99, 0=1.14) 1 — (x=3519.09, 0=1.14)
I r— (CEI:E;SPITOQ, 0=1.17) I — (c:I:E;SplQ 16, 0=1.13)

e Residual*5

e Residual*5
= Trace

Y=3684 (dx=2.9e-02, do=3.4e-02)

pfsArm
| = (x=3521.53,0=114)

| calExp

= (x=3521.56, 0=1.18)
e Residual*s

= Trace

3510 3520 3530

3530

3520

3510

Y=982 (dx=8.3e-02, do=2.1e-02)

T pfsArm
1 = (x=3510.14, 0=1.15)

1 calExp
= (x=3510.22, 0=1.17)

- e Residual*5
== Trace

Y=1965 (dx=8.6e-02, do=1.0e-02)

pfsArm
| ™ x=3510.80,0=115)
calExp
= (x=3510.88, 0=1.16)
e Residual*5
= Trace

1

Y=2947 (dx=6.2e-02, do=-6.8e-03)
T
1 = ?:igr$5.22,0=1.14)
I r— (cf‘f;spls.zs, 0=1.13)

e Residual*5
== Trace

Y=3930 (dx=-7.3e-03, do=6.6e-02)

pfsArm
| = (x=3524.41,0=1.14)

calExp
= (x=3524.40, 0=1.20)
m—Residual*s
- Trace

3510 3520 3530

3520 3530 3540

3510
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Y=245 (dx=3.3e-03, do=4.9e-03)

f=1727, X=1469.6

Y=491 (dx=4.2e-03, do=2.2e-03)

T pfsArm
| = (x=1464.94,0=1.14)

1 calExp
-1 = (x=1464.94, 0=1.14)

e Residual*s
= Trace

T pfsArm
1 = (x=1466.02, 0=1.14)

1 calExp
= (x=1466.03, 0=1.14)

e Residual*5
== Trace

1
Y=1228 (dx=-3.0e-02, do=-1.3e-02)

1
Y=1473 (dx=-8.4e-02, do=1.8e-02)

i Trace

pfsArm I pfsArm
. 1 = (x=1468.39, 0=1.14) 1 = (x=1469.03, 0=1.14)
1 calExp 1 calExp
= (x=1468.36, 0=1.13) = (x=1468.94, 0=1.16)
= Residual*5 = Residual*5

w— Trace

- e Residual*5
w— Trace

1
Y=2210 (dx=-6.7e-02, do=3.8e-02) Y=2456 (dx=-5.9e-02, do=2.0e-02)
pfsArm I pfsArm
| = (x=1470.57, 0=1.13) 1 = (x=1471.02, 0=1.13)
I r— (cflﬁ(fm,so, 0=1.17) I r— ((:LE{%O 96, 0=1.15)

e Residual*5
= Trace

Y=3193 (dx=-4.6e-02, do=4.8e-02)

Y=3439 (dx=-6.1e-02, do=6.7e-02)

T pfsArm
| ™ (x=1471.94,0=113)

| calExp

= (x=1471.90, 0=1.18)
= Residual*5
= Trace

pfsArm
1 — (x=1472.14, 0=114)

calExp
= (x=1472.08, 0=121)
= Residual*5
- Trace

1460 1470 1480

1460 1470 1480

Y=736 (dx=-6.8e-02, do=2.1e-02)

= T pfsArm
| ™ (x=1466.88, 0=1.14)
1 calExp
= (x=1466.81, 0=1.16)
m—Residual*5
== Trace

Y=982 (dx=-2.8e-02, do=5.2e-03)

Y=1719 (dx=-6.4e-02, do=-3.4e-03)

pfsArm
| ™ (x=1467.68, 0=1.14)
1 calExp
= (x=1467.65, 0=1.15)
m—_Residual*5
== Trace

I pfsArm
| = (x=1469.57,0=1.14)

- 1 calExp
= (x=1469.51, 0=1.14)

e Residual*5
= Trace

Y=2702 (dx=-3.2e-02, do=4.6e-02)

I
1
—_—
1
Y=1965 (dx=-7.8e-02, do=2.1e-02)
I pfsArm
1 = (x=1470.11, 0=1.13)
1  calExp
— (x=1470.03, 0=1.15)

e Residual*5
= Trace

—

T I pfsArm
| = x=1471.39,0=113)

1 calExp
= (x=1471.36, 0=1.18)

e Residual*s
== Trace

Y=2947 (dx=-4.4e-02, do=2.9e-02)

Y=3684 (dx=-6.9e-02, do=7.1e-02)

T pfsArm
| ™ (x=147170,0=1.13)
1 calExp

= (x=1471.66, 0=1.16)
e Residual*5
== Trace

pfsArm
1 = (x=1472.18, 0=1.14)

calExp
= (x=1472.11, 0=121)
= Residual*5
- Trace

Y=3930 (dx=1.0e-02, do=1.5e-01)

1460 1470 1480

pfsArm
1 = (x=1472.08, 0=1.14)

calExp
= (x=1472.09, 0=1.29)
m—Residual*s
- Trace

1460 1470 1480
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Y=245 (dx=-1.0e-01, do=-1.8e-01)

pfsArm
= (x=571.89, 0=1.59)

calExp
= (x=571.79, 0=1.41)
s Residual*5
w | Trace

f=1871, X=581.6

Y=491 (dx=-4.2e-01, do=-2.9e-01)

Y=736 (dx=-7.7e-03, do=-3.2e-02)

pfsArm
= (x=575.55, 0=2.12)

calExp
= (x=575.13, 0=1.83)
w— Residual*5
== Trace

f

pfsArm T

(x=575.70, 0=1.40)

calExp
= (x=575.69, 0=1.37)

e Residual*5
== Trace

1
Y=1228 (dx—-3 4e-02, do=-5.4e-02)

Y=1473 (dx—-3 le- 02 do=-4.9e" 02)

Y=1719 (dx 7.0e- 02 do=5.8e- 02)

pfsArm
= (x=578.73, 0=1.46)

calEx
_(x= 575 69, 0=1.41)
= Residual*5

| == Trace

pfsArm
= (x=579.82, 0=1.56)

calExj
_(x= 579 79, 0=1.51)
e Residual*5

] == Trace

fsA
mE (x 580.90, 0=1.67)

calExp
= (x=580.97, 0=1.72)
e Residual*5

= Trace

Y=2210 (dx=8.7e-02, do=6.9e-02)

Y=2456 (dx= 4.6e- 02, do= 2.6e- 02)

Y=2702 (dx=5.8e-02, do=4.8e-02)

pfsArm
= (x=581.95, 0=1.72)

calExp
— (x=582.03, 0=1.79)
w Residual*s

- Trace

{Fhorlt el ]2

pfsArm
= (x=581.79, 0=1.56)

calExp
= (x=581.84, 0=1.58)
== Residual*5

T
1
1
|
1 - Trace
1
1
1

Al

pfsArm
= (x=581.76, 0=1.50)

calExp
= (x=581.81, 0=1.55)
e Residual*5
= Trace

Y=3193 (dx=4.6e-02, do=-2.6e-02)

1
Y=3439 (dx=-1.6e-01, do=-1.3e-01)

Y=3684 (dx=-7.1e-02, do=3.1e-02)

Y=982 (dx=-3.0e-02, do=-9.1e-02)

pfsArm
== (x=577.94, 0=1.68)

calExp
= (x=577.91, 0=1.59)
s Residual*s

T
|
I
I
l == Trace
|
|
1

Y=1965 (dx=2.2e-01, do=4.4e-02)

pfsA
== (x=582.54, 0=2.10)
calExp
- (x=582.76, 0=2.14)
e Residual*5
= Trace

o ]

s

Y=2947 (dx=1.3e-01, do=9.4e-02)

pfsArm
= (x=582.05, 0=1.77)

calExp
= (x=582.18, 0=1.86)
e Residual*5

= Trace

3930 (dx=-1.8e-01, do=-1.0e-01)

=<
Il

pfsArm

| ™ (x=582.04, 0=2.06)

| calExp
—(e582.08, 0=2.03)

I w—— Residual*5

1 - Trace

1

1

pfsArm
m—(x=581.44, 0=2.01)
calExp
= (x=581.28, 0=1.87)
e Residual*5
= Trace

pfsArm
= (x=580.88, 0=2.04)

calExp
M (x=! 580 81, 0=2.08)
= Residual*5
= Trace

570 580 590

570

580 590

570 580 590

pfsArm
== (x=578.43, 0=1.91)

calExp

(x=! 578 26, 0=1.81)
e Residual*5
= Trace

=

.
570 580 590
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Y=245 (dx=-1.5e-02, do=4.0e-02)

f=1872, X=575.4

Y=491 (dx=-5.1e-03, do=4.4e-03)

- = (x=568.54, 0=1.29)
= Residual*5

T pfsArm T pfsArm
1 = (x=568.56, 0=1.25) . 1 = (x=570.79, 0=1.25)
1 calExp 1 calExp

= (x=570.79, 0=1.25)
e Residual*5
== Trace

m——Residual*5
= Trace

1
Y=1228 (dx=-1.0e-02, do=-1.3e-02) Y=1473 (dx=-2.8e-02, do=-1.3e-02)
I pfsArm I pfsArm
T 1 = (x=575.55, 0=125) T 1 = (x=576.56, 0=124)
1  calExp 1 _ calExp
(x=575.54, 0=1.23) (x=576.53, 0=1.23)

mm—Residual*5
= Trace

1
Y=2210 (dx=-3.8e-02, do=-2.4e-02) Y=2456 (dx=-3.9e-02, do=-2.5e-02)
I pfsArm I pfsArm
1 = (x=578.34, 0=1.23) 1 = (x=578.51, 0=1.23)
| e (cf‘:E5x7p8,31, 0=1.20) 1 e (C;LE;7PS 47, 6=1.20)

m——Residual*5

mmResidual*5
= Trace

Y=3193 (dx=-4.7e-02, do=-1.3e-02)

Y=3439 (dx=-3.9e-02, do=-5.5€-03)

e Residual*5
- == Trace

T pfsArm T pfsArm
1 = (x=577.69, 0=1.25) 1 = (x=576.87, 0=1.24)
| calExp | calExp

= (x=577.65, 0=123) = (x=576.83, 0=1.23)

- mm—Residual*5
= Trace

570 580 590

560 570 580 590

Y=736 (dx=1.1e-02, do=-1.4e-02)
T

pfsArm
i 1 = (x=572.69, 0=1.25)

1 calExp
= (x=572.70, 0=1.23)

w—— Residual*5

= Trace

1
Y=1719 (dx=-3.9e-02, do=-1.6e-02)
- I SArm
1 = r£=A577.37, 0=1.24)
| - 1C:|=E5X7p7,34, 0=122)
w— Residual*5

i Trace

Y=2702 (dx=-5.4e-02, do=-2.6€-02)
N T

pfsArm

1 = (x=578.50, 0=1.22)
1 calExp

—(x=578.44, 0=1.20)

mm— Residual*5
w— Trace

Y=3684 (dx=-4.4e-02, do=-1.2e-02)

T pfsArm
1 = (x=575.77, 0=123)

= | calExp
= (x=575.73, 0=122)

mm Residual*5
w— | Trace

560 570 580 590

Y=982 (dx=-1.6e-02, do=-1.7e-02)
T

pfsArm
. 1 = (x=574.30, 0=125)
1 calExp

= (x=574.29, 0=123)
m— Residual*s

1
Y=1965 (dx=-3.2e-02, do=-1.3e-02)

4 T fsArm
| ™ (x=577.88,0=125)

1 calExp
= (x=577.85, 0=1.23)

m—— Residual*5
= Trace

Y=2947 (dx=-4.0e-02, do=-2.1e-02)
T

pfsArm
1 = (x=578.27, 0=123)
1 calExp

(x=578.23, 0=1.21)
m—— Residual*5

Y=3930 (dx=6.1e-03, do=4.4e-02)

T pfsArm
1 = (x=574.32, 0=122)

-1 | calExp
= (x=574.33, 0=1.27)

m—— Residual*5
= Trace

560 570 580 590
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Y=245 (dx=-1.7e-01, do=-3.2e-01)

f=1880, X=525.9

Y=491 (dx=-3.5e-01, do=-3.4e-01)

pfsArm
= (x=515.79, 0=1.46)

calExp
= (x=515.61, 0=1.14)
— Residual*s
== Trace

1;

- J pfsArm
= (x=519.12, 0=1.73)
calExp
- x= 51377 0=1.39)
— Residual*s

== Trace

Y=1228 (dx=-1.4e-01, do=-1.9e-01)

Y=1473 (dx=-4.6e-02, do=-1.3e-01)

pfsArm
= (x=524.11, 0=1.74)

calEx
- x= 523 97, 0=1.55)

e Residual*5
= Trace

B

pfsArm
= (x=525.13, 0=1.74)

calExj
_(x= 525 08, 0=1.62)
= Residual*5

= Trace

ke

Y=2210 dx—-2 4e-02, 'do=-3.3e- 02)

Y=2456 (dx=-1.2e-01, do=-1.6e-01)

pfsArm
= (x=525.51, 0=1.16)

calExp
(x=525.49, 0=1.13)

e Residual*5
= Trace

N

pfsArm
= (x=527.09, 0=1.75)

calExp
= (x=526.97, 0=1.59)
e Residual*5

= Trace

Lok

Y=3193 (dx=8.1e-02, do=1.2e-01)

Y=3439 (dx=-2.1e-01, do=-2.5e-01)

pfsArm

= (x=526.66, 0=1.87)
calEx|

- (x= 52674 0=1.99)

e Residual*s

= Trace

e

pfsArm
= (x=525.07, 0=1.67)

calExp
= (x=524.86, 0=1.43)
= Residual*5
w— Trace

520 530 540

520 530 540

Y=736 (dx=-2.5e-01, do=-2.3e-01)

pfsArm
= (x=521.17, 0=1.76)

calExp
_ = 530, 92, 0=1.52)
e Residual*s
== Trace

Lf 1

1

Y=1719 (dx—-3 8e-02, do=-8.3e- 02)

pfsArm
(x=526.32, 0=1.85)

calExp
= (x=526.28, 0=1.76)
= Residual*5
= Trace

I
iy

Y=2702 (dx=1.2e-01, do=2.3e-02)

pfsArm
= (x=527.56, 0=1.87)

T calExp
— (x=527.68, 0=1.89)

T
|
I
I = Residual*5
|
|
|

= Trace

[ I

=3684 (dx=-4.1e-01, do=-2.7e-01)

=<

T pfsArm
= (x=524.65, 0=1.87)
calExp
= (x=524.24, 0=1.61)
= Residual*5
- = Trace
- J - —
T T T

510 520 530 540

Y=982 (dx=-3.6e-02, do=-2.5e-02)

pfsArm
= (x=521.66, 0=1.32)

calExp
- (x= 52162 0=1.30)
m— Residual*s

|
I
I
l w Trace
|
|
1

1
Y= 1965 dx=-5.1e- 02, do=-6.1e- 02)

pfsArm
= (x=525.72, 0=1.43)
calExp
— (x=525.67, 0=1.37)
= Residual*5
= Trace

Y=2947 (dx=-3.3e-02, do=-4.1e-02)

pfsArm
= (x=525.65, 0=1.31)

calExp
(x=525.62, 0=1.27)
e Residual*5

T
1
1
|
1 - Trace
1
1
1

1
Y=3930 (dx=-5.5e-02, do=-3.7e-02)

pfsArm

= (x=522.14, 0=1.70)
calExp

= (x=522.08, 0=1.66)

e Residual*5

= Trace

i

510 520 530 540
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Y=245 (dx=1.8e-02, do=8.6e-02)

f=1881, X=519.7

Y=491 (dx=5.2e-02, do=4.9e-02)

Y=736 (dx=2.1e-02, do=3.0e-02)

= (x=512.59, 0=1.45)
m— Residual*s
== Trace

pfsArm pfsArm
1 = (x=512.57, 0=1.36) 1 = (x=515.07, 0=129)
1 calExp 1 calExp

= (x=515.13, 0=1.34)
s Residual*5
w | Trace

m——Residual*5
= Trace

= (x=521.05, 0=127)
mm Residual*5
== Trace

1 1

Y=1228 (dx=4.2e-02, do=-1.0e-02) Y=1473 (dx=1.2e-02, do=-1.0e-02)
I fsArm I pfsArm
| = (x=519.74,0=1.44) 1 = (x=521.04, 0=1.28)
| = (Cffsxfwa, 0=1.43) 1 s,

7 | =™ (x=521.67,0=1.40)

m—Residual*5
= Trace

1
Y=2210 (dx=1.8e-02, do=-1.8e-02) Y=2456 (dx=1.0e-02, do=-1.9e-02)
I pfsArm I pfsArm
| =™ (x=522.66,0=137) 1 = (x=523.00, 0=125)
I r— (C;‘:Egzpz 68, 0=1.36) I r— (C;‘:Esxzpz 01, 0=1.23)

mmResidual*5
= Trace

- mm— Residual*5

e Residual*5
== Trace

1 1
Y=3193 (dx=-5.5e-05, do=6.6e-03) Y=3439 (dx=-2.2e-02, do=2.8e-02)
T pfsArm T pfsArm
1 = (x=522.07, 0=1.26) 1 = (x=521.18, 0=127)
1 = (cxa‘:E;zpz.m, 0=1.27) 1 — ffI:Esz(zpl.ls, 0=1.30)

m Residual*5

T pfsArm
1 = (x=517.04, 0=129)
1 calExp

= (x=517.06, 0=1.32)
w— Residual*5
== Trace

Y=1719 (dx=1.9e-02, do=-1.3e-02)

pfsArm

1 calExp
= (x=521.69, 0=1.38)
w—— Residual*5
= Trace

Y=2702 (dx=-2.0e-02, do=-1.5e-02)

pfsArm

| = (x=52274,0=1.39)
1 calExp

= (x=522.72, 0=1.38)

= Trace

Y=3684 (dx=-2.7e-02, do=2.6e-02)

pfsArm
| =™ (x=519.76, 0=1.41)

calExp
= (x=519.74, 0=1.43)
mm Residual*5

510 520 530

510 520 530

Y=982 (dx=2.7e-02, do=1.1e-02)

T pfsArm
| 1 == (x=518.54, 0=1.36)
1 calExp

= (x=518.57, 0=1.37)
m— Residual*s

== Trace

1
T T T
Y=1965 (dx=5.1e-03, do=-2.1e-03)
. T pfsArm
1 = (x=522.38, 0=131)
1 calExp
= (x=522.39, 0=1.31)
m— Residual*s
= Trace

Y=2947 (dx=-3.4e-03, do=-7.6e-03)

pfsArm
1 = (x=522.53, 0=1.33)

1 calExp
(x=522.53, 0=1.32)
m—— Residual*5
- = Trace

1
Y=3930 (dx=-3.9e-03, do=5.0e-02)
T
1 = E):S:A_'Hﬂa.il, 0=1.28)
T | r— KCSI:E;fsal, 0=1.33)

m— Residual*5

510 520 530
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Y=245 (dx=-6.3e-01, do=-4.9e-01)

f=1888, X=476.4

Y=491 (dx=-2.1e-01, do=-3.6e-01)

pfsArm
= (x=467.46, 0=1.87)

calExp
= (x=466.83, 0=1.38)

w— Residual*5

pfsArm
= (x=468.79, 0=1.49)

calExp
= (x=468.58, 0=1.13)
— Residual*s

|
I
I
l = Trace
|
|
1

Y=1228(dx=-3.4e-02, do=-1.8e-02)

Y=1473 (dx=-8.3e-02, do=-9.5e-02)

pfsArm
= (x=473.66, 0=1.35)

calExp
= (x=473.63, 0=1.34)

e Residual*5

== Trace

pfsArm
= (x=474.64, 0=1.33)
calExp
= (x=474.56, 0=1.24)
= Residual*5
= Trace

Y=2210 (dx=-5.0e-02, do=-7.4e-02)

Y=2456 (dx=-7.7e-02, do=-1.3e-01)

pfsArm
= (x=476.71, 0=1.43)

calExp
= (x=476.66, 0=1.36)
e Residual*5

T
1
1
|
1 - Trace
1
1
1

pfsArm
— (x=476.59, 0=1.29)

calExp
m—(x=476.52, 0=1.16)
= Residual*5

w— Trace

Y=3193 (dx=-5.8e-02, do=-1.7e-01)

Y=3439 (dx=-7.9e-02, do=-1.7e-01)

pfsArm
= (x=475.71, 0=1.40)

calExp
= (x=475.65, 0=1.23)
m—Residual*s

== Trace

pfsArm
= (x=474.93, 0=1.60)
calExp
= (x=474.85, 0=1.42)
= Residual*5
- Trace

470 480 490

470 480 490

Y=736 (dx=-1.5e-01, do=-2.1e-01)

pfsArm
= (x=470.86, 0=1.54)

calExp
= (x=470.71, 0=1.33)
— Residual*s

== Trace

Y=1719 (dx=-6.6e-02, do=-7.7e-02)

pfsArm
= (x=475.76, 0=1.47)

calExp
= (x=475.69, 0=1.39)
= Residual*5

= Trace

1

Y=2702 (dx=-6.8e-02, do=-9.1e-02)

pfsArm
= (x=476.93, 0=1.60)

calExp
= (x=476.86, 0=1.51)
= Residual*5
= Trace

Y=3684 (dx=-3.1e-01, do=-2.7e-01)

pfsArm
= (x=474.27, 0=1.78)
calExp
= (x=473.96, 0=1.51)
= Residual*5
- Trace

460 470 480 490

Y=982 (dx=-2.0e-01, do=-2.4e-01)

pfsArm
= (x=472.98, 0=1.66)

calExp
— (x=472.79, 0=1.43)
m— Residual*s

T
|
I
I
l w Trace
|
|
1

1
Y=1965 (dx=-2.2e-02, do=-3.6e-02)

pfsArm
= (x=477.05, 0=1.72)
calExp
= (x=477.02, 0=1.68)
= Residual*5
= Trace

1
Y=2947 (dx=-5.8e-02, do=-8.4e-02)

pfsArm
= (x=476.84, 0=1.53)

calExp
m—(x=476.78, 0=1.45)
e Residual*5

= Trace

1
Y=3930 (dx=-1.9e-01, do=-2.5e-01)

pfsArm
—(x=472.22, 0=1.79)
calExp
= (x=472.03, 0=1.54)
= Residual*5
- Trace

460 470 480 490
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Y=245 (dx=-2.6e-02, do=8.5e-02)

f=1926, X=240.6

Y=491 (dx=7.3e-02, do=6.1e-02)

Y=736 (dx=3.5e-02, do=4.8e-02)

Y=982 (dx=4.5e-02, do=5.7e-03)

pfsArm pfsArm
1 = (x=232.50, 0=1.36) 1 = (x=235.42, 0=1.36)
1 calExp 1 calExp

= (x=232.48, 0=1.44)
m—Residual*s

= (x=235.50, 0=1.42)
m— Residual*s

T pfsArm
1 = (x=237.71, 0=1.40)

1 calExp
" (x=237.74, 0=1.44)

w—— Residual*5

T pfsArm
| ™ (x=239.69, 0=1.40)

1 calExp
= (x=239.74, 0=1.41)

m— Residual*5
== Trace

Y=1228 (dx=5.1e-02, do=-5.8e-03)

Y=1473 (dx=4.8e-02, do=9.9e-03)

Y=1719 (dx=6.9e-02, do=1.2e-02)

Y=1965 (dx=5.6e-02, do=2.2e-02)

T pfsArm pfsArm
1 = (x=241.41, 0=1.36) 1 = (x=242.59, 0=1.39)
1 calExp 1 calExp

= (x=241.46, 0=1.36)
mmResidual*5

= (x=242.64, 0=1.40)
w— Residual*5
= Trace

I pfsArm
1 == (x=243.56, 0=137)
1 calExp

= (x=243.63, 0=1.39)

m—— Residual*5

T pfsArm
1 = (x=244.29, 0=1.34)
1 calExp

= (x=244.35, 0=1.37)
m— Residual*s
== Trace

Y=2702 (dx=2.1e-02, do=-2.5e-03)

Y=2947 (dx=6.1e-03, do=1.7e-02)

1
Y=2210 (dx=1.0e-02, do=1.8e-02) Y=2456 (dx=3.4e-02, do=1.3e-02)
T
1 = Fli’é'?l 57, 0=1.36) 1 — Ks:\zrﬂ.m, 0=1.38)
1 [ (C;‘:E;EA 58, 0=1.38) 1 — SI:EZXEA.es, 0=1.39)

m—Residual*5
= Trace

m— Residual*5
w— Trace

pfsArm
1 = (x=244.44, 0=1.35)
1 calExp

m—(x=244.46, 0=1.35)
m—— Residual*5

pfsArm
1 = (x=243.77, 0=1.40)
1 calExp

m—(x=243.77, 0=1.41)
m—— Residual*5
= Trace

1
Y=3193 (dx=2.9e-02, do=1.6e-02)

1
Y=3439 (dx=1.2e-02, do=3.2e-02)

Y=3684 (dx=-5.6e-02, do=3.7e-02)

Y=3930 (dx=-2.7e-02, do=6.8e-02)

T pfsArm pfsArm
1 = (x=243.08, 0=1.33) 1 = (x=241.64, 0=1.38)
| calExp | calExp

= (x=243.11, 0=1.35) = (x=241.65, 0=1.41)

mm—Residual*5

m Residual*5
w— Trace

T pfsArm
1 = (x=240.08, 0=1.33)
| calExp

= (x=240.02, 0=1.37)

m—— Residual*5
w— Trace

pfsArm
| ™ (x=237.67,0=1.39)
calExp
= (x=237.64, 0=1.45)
m— Residual*5
- Trace

230 240 250

230 240 250

230 240 250




